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General Studies Model Questions — 6

Match the following :
(a) Krebs cycle
(b) Ubiquinone
(c) Glycolysis
(d) Acetyl — CoA
@ ®® @© @

(A) 4 3 1 2
B) 3 1 4 2
© 1 4 2 3
(D) 4 1 3 2
Ans - (A) 4 3 1
OUTHSHSIS -

@) g swpm
(b) wy @ uleonmes

(c) BemenaBasmalsnierd
(d) eI L6d FHlememT 6I6dEneNLD 6]

@ ® © @

(A) 4 3 1 2
(B) 3 1 4 2
© 1 4 2 3
(D) 4 1 3 2
Ans - (A) 4 3 1

The purines present in nucleic acids are :

I Adenine and Cytosine

Il. Guanine and Thymine

"I Adenine and Guanine

V. Cytosine and Uracil

(A) IV (B) I ©) 1l

. Occurs in cytoplasm
. Diffuse from cytoplasm to mitochondria

. Mobile carrier

AW N e

. Occurs in mitochondrial matrix

1. engl BLmlenmmasHgle0 Heml GuEID

2. engl BLmienmasHaHelmbal swiol L Tamewngfuime)sa
LIJ&)LD

3. pa@®mD Caflwitssl

4. soiwl CLnasremngflwrailen Gl flded LGHulsd

HewL CLIBID

D)1
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Ans - (B) I
Pusefds oifleomiseisy smemiu® (uyflerssit

l. Slgemenei LBEID engL GL et
. Gourelledl LOBEID emGHLO 6T

1. SIYEMeIT6 LOBMID G euTenlein
V. enF@LTHed oBmID uyrdled

(A) IV B) I ©) 1l D)1
Ans - (B) Il

Find out the correct match/es :

I. Enzymes - Biological catalysts

Il. DNA - Nucleic acid

I1. Insulin - Hormone

IV. Vitamine E - Water soluble vitamin

(A) Il only (B) I only ©) 1, lland IV (D) I, Mand 11

Ans- (D) I, Il and 1

giwimer  QUT[HHS S B enard/ LITemaIBmeT Heil_fb.

1. B - o uiflw Aflwr earsadsein

1. 19..6T60T.6] - Blugseid sidleold

I1. @) 6t1g6V 601 - ammT@LoTest

V. emall_LLoleir E - Biflsd BOIUWD ML L LOl6IT

(A) 1 oL Eio (B) I ot_®1b ©) I, Il oign 1V D) I, I wipio I

Ans - (D) I, Il i 11

The number of generalized co-ordinates required to describe the position of a simple pendulum is
A1 (B) 2 ©3 (D) 4

Ans - (B) 2

Qm Hofl omFelan Blamsven Sl CoHemeuwimesr GQLUITHIBlENsD S UImIE6T6  eTevTenidbemnsd

A1 (B) 2 ©3 (D) 4

Ans - (B) 2

If g is the acceleration due to gravity and R is the radius of the earth, then escape velocity is given
by the relation

(A)V=2g B)V=2g (C©)V=2Rg (D)V=2Rg
Ans - (C) V =2Rg
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g— yslufiiy @p@ésn wppb R -yell oub aafs alBUE CaussHboTer Fwsm®
(A)V=2g B)YV=2g (C)V=2Rg (D)V=2Rg

Ans - (C) V=2Rg

The relation connecting Young’s modulus (E), Bulk modulus (K) and Rigidity modulus (N) is
(A) 9/E = 3/IN+1/K (B) 9/N=3/E+1/K

(C) 9/N=1/E+3/K (D) 9/E=1/N+3/K

Ans - (A) 9/E = 3/N+1/K

whigemsd  (E) , umws Geausnd (K) opgid  olompiys Geosd  (N)  spdweimbens
OmemSGHWD  FLOGILIT({H

(A) 9/E = 3/N+1/K (B) 9/N=3/E+1/K

(C) 9/N=1/E+3/K (D) 9/E=1/N+3/K

Ans - (A) 9/E = 3/N+1/K

The S.1 unit of gravitational constant G is

(A) N kg™ (B) Nmkg™ (C) Nm? kg™ (D) Nm? kg™
Ans - (D) Nm? kg™

yellufiy wrfed G-uflenr S.| oiev@

(A) N kg™ (B) Nm kg™ (C) Nm? kg™ (D) Nm? kg
Ans - (D) Nm? kg™

Choose the correct answer :

The itai-itai disease of Japan was caused due to

. Arsenic pollution
Il. Cyanide pollution
1. Cadmium pollution
V. Lead pollution

(A) land Il (B) land 111 (C) Ml only (D) IV only
Ans - (C) I only

Fflwmresr ellenL HHb.

siumeflenr @ULTul - @ULmi GBTUl 2 HeuThsHIHMBE STIemID

1. STFefld THUTH
1. MFWLIMIL  LOTHUTH
1. SM_LOWID  r&HUT®H
V. Q6oL (FWILD) OT&HUITH
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10.

(A) | wpgio 11

Ans - (C) I i B

Match the following :

@) Sericulture
(b) Horticulture
(© Agquaculture
(d) Apiculture

@ (b (©
(A) 3 4 1
(B) 2 3 4
© 1 2 3
(D) 4 3 2
Ans - (A) 3 4
OUTHSHSIS -
@) Qafl@soFai
(b) QBT BEOSFT
©) SIBOUTHEOFFT
(d) JUB6OFFT

@ (b (©
(A) 3 4 1
(B) 2 3 4
©) 1 2 3
(D) 4 3 2
Ans - (A) 3 4
Expand FAT
(A) First Allocation Type
(B) File Allocation Type
© First Allocation Table
(D) File Allocation Table

Ans - (D) File Allocation Table

(d)

[ N N

[ N U = ¥

(B) Il wigio I (C) 111 1 G (D) IV 1o @b

1. Farming of aquatic organisms

N

. Culture of honey bees
3. Rearing of silk worms

4. Cultivation and maintaining gardens

1. mireurp 2 uiflenr euemiriiLy
2. Cxpadt eeNiTlILy
3. Ul (Guyw el

4. BHM L H&Hen60
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11.

13.

FAT aietiugsit elifleurdasid ereoieo?

(A) wasv umB B suems (First Allocation Type)
(B) Gamiy ums B euewa (File Allocation Type)
(C) wasv ums B ulwed (First Allocation Table)
(D) Gamiy umisS B uguisd (First Allocation Table)

Ans — (D) Gsmiy umis G ugusv (First Allocation Table)

Which of the following is used to store large amounts of data?

(A) Primary memory (B) Auxiliary Storage

(C) Cache memory (D) Random access memory

Ans - (B) Auxiliary Storage

SDHHBTEID HeNGTOUBRIBET6D 6T&H DHBULIQUITET HBeusudemen CFllsHs LWeTUIBSBSH?
(A) wasiiemn BHeneaisid (B) @yewiLmb Hemev [Heneurendsid

(C) Coaryp Hewanaisld (D) Gmylg SiemIB6D BlenemeusbLd

Ans - (B) @remimb Hlensv [Hlenemeusbid

Give the value of Terabyte.

(A) 210 (B) 220 (C) 230 (D) 240
Ans - (D) 2%

QLiTgTemUIL 1968 DAL Fnl.

(A) 210 (B) 220 (C) 230 (D) 240
Ans - (D) 2%

‘Bluetooth’ technology is

(A) Satellite communication

(B) Wired communication between devices

(C) Wireless communication between devices

(D) Communication between landline to mobile phone
Ans - (C) Wireless communication between devices
‘UenBSH OBHTI6LEI LID 6T6TLIH

(A) QFWLBBCHT6T QML

(B) Bn smalsensdam G o sen &bl &Ly

© Bn smalsensdm G o sen &bl Gsveor G&TLITY
(D) sorall QsTemeoCuAulelmhal mslCUs CHTLILGE

Ans — (C) @mp asmalsensdam B 2 siten &I @e06oT QGHTLITL
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14.

15.

The plant type which colours the ocean surface water red is

(A) Dinoflagellates
(C) Green algae
Ans - (A) Dinoflagellates

(B) Golden algae
(D) Red alage

&L6v Hiiler GoBurlien GFHBIBLOTES WOTHBBID HTEUT QIENSD.

(A) ewLBewmiieored GsvL_610
(C) usews PiB sLsoLTH

Ans - (A) enL_BermiisoredlGevt_srd

(B) smis BB sLsoumd]

(D) fouriy Mp sLsourd

Match List | with List Il and select the correct answer :

List I (Climate)

(@) Chennai is warmer than Kolkatta

List Il (Reason)

1. Distance from Sea

(b) Snowfall in Himalayas 2. Altitude
(c) Rainfall decreases from west Bengal to Punjab 3. Western Disturbance
(d) Winter Rainfall 4. Latitude
@ ® @© @
A 1 2 4 3
B) 1 2 3 4
© 3 2 4 1
(D) 4 2 1 3
Ans - (D) 4 2 1 3

uligwied 1-m uliguied -2 L6 GuTmsa sflwrer elenLenwdh GHfe] QFuIS.

U iguisd | (smev  Blemsv)

uigwisv 1l (smyemiid)

(@) GasmeodEsHHTMma L QFaTensl GEILILIOTS 266N 1. sLed6d @MbEHI SHMJD
(b) @wuwieneouisd LsNIGUITI 6y 2. o Wb
(©) CubE amssHmHbEH Lehaml GrroHd OFsuen 3. CuBssAHW STHBEHI

DMLY GMBEBH!
(d) @efitarsy wenplGLITY6)

4. oI FCrems

@ (d (© (d)
A 1 2 4 3
B) 1 2 3 4
C) 3 2 4 1
D) 4 2 1 3
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16.

17.

18.

Ans - (D) 4 2 1 3

Which of the following is not a planetary wind?

(A) Westerlies (B) Trade winds

(C) Monsoon (D) Polar easterlies

Ans - (C) Monsoon

&Bps QBTHHSLILIL BeiTeneuBmIe GHTeiT HIBMI DIVEVTHME 61517

(A) Guwenevd STBBI (B) elwirungéss  srmm
(C) umeus sTBEI (D) s1506u SewipHETHBHI
Ans - (C) umeus sTBEI

The place of India which does not have tropical evergreen forest is

(A) Eastern part of Western Ghats

(B) Western part of Western Ghats

(C) Andhaman and Nicobar islands

(D) Eastern part of subtropical Himalayas

Ans - (A) Eastern part of Western Ghats

BbHWITellsd S LWL 60 LGN LOMBTHETHHM6T CEBTagimsd LG

(A) CuB@ OHTLIFS wemeoulss SWHGL LGS
(B) Guoi@ OsTLTFH wemevulss GB@L LIEGE
(C) sibsiomen BHlaGsTUTT FeyHeir

(D) 2 u owen HipdHE GSROUILDEN6D

Ans - (A) Cui@ OHTLIFS wensoulsi HsGL LGS

Consider the following statements and choose the correct answer from the given options.
. Shompens is tribal inhabitant of Nicobar Island.

Il. As per 2011 census, their population is 229.

(A) 1 only true (B) Il only true

(C) I and Il are true (D) l'and Il are false

Ans - (C) I and Il are true

LI SnBens Salalohdl CaTHHBILL (BeTenamealseaiey Fhluimer el snul CHTHOHBHBALD.

1. “agmbiueiery” BlEGsTUNT Halled audlb@D @T LILPMmIGIQUTN6T.
Il. 2011 wésl. OFHTmed HemisCsGUILY BouTsefls 1HH6m CHTens 229

(A) apps0 Faibmi LG & (B) @yewi_meugsl dmmpml LG &
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19.

20.

(C) @rawio sflwmeng: (D) @yeiibio HUBIEIS!.
Ans - (C) @yewiid Flwimergi

Choose the correct sequence of the following using the codes given below:
. Qutbuddin Aibak, lltutmish, Raziya, Balban

1. Jahangir, Humayun, Akbar, Shahjahan

1. Balaji Viswantha, Balaji Baji rao, Baji Rao I, Shivaji

(A) I'and 11 only (B) Il and I11 only
(C) lonly (D) I only
Ans - (C) I only

&6 OETHESILLLauBplsd @GnBuil GLswidenen LiweLh g Fllwmer euflengenuids GHTEHM.

l. GHUSHH 2MOub, @evgiSHllad, Srdwm, LmeLLsHT
1. WOBMTHIST, QSLOTULET, DBLIT, QQTEISHT6
1I. ureored elleroeupbrd, LTeLTeS LTgTel, (pgHeomd Lmedymel, Heured

(A) I oo 11w @Bio (B) Il opmio 1w @Gid
(C) I o Bt (D) 11 wr @i
Ans - (C) | ot _Bp

Which of the following were among the main exports of Indus valley people. Select the correct
answer from the codes given below:

I Wheat

Il. Barley

I"i. Cotton

V. Gold

(A) 1, 11 and Il (B) Il and 111 (C) land Il (D) Il and IV
Ans - (C) land Il

fbx  Fwleued pdsefelr  (WPpHHUI  gBBILAIT  QUTHeTHMmeT HPHHem  GNUIBEsT  cpsvld
Fflwrenr allewL_enuid BHiTHOHBHS.

l. GaTHImID

Il. U6

I1. LUHHSH

AVA HHIBLID

(A 1, 1 wosgo I (B) Il wigin 1 (©) I oo 11 (D) Hl wipp 1V

Ans - (C) | wimo 11
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21.

22.

Match List I with List Il correctly and select answer :

List | List 11
(a) Santhal’s Rebellion 1. 1923
(b) Maplah Rebellion 2.1929
(c) Vizag Revolution 3.1921
(d) Bardoli Satyagraha 4, 1855
@ (B (@© @
(A) 1 3 2 4
(B) 4 1 2 3
© 4 3 1 2
(D) 2 3 1 4
Ans - (C) 4 3 1 2

uligwsd Iy ulguwesd Il 2 Ler QuI®ss Fllwmer elenLsmul CHTHOHMH :

L guwiso | Ut guwiso 11

@) FMHBHEVBHEIT  HEVBID 1. 1923
(b) LOTLIGTT  &6V&HID 2. 1929
©) MUFTE  HEVBLD 3. 1921
(d) uT@sTed FHAHwTdyesd 4, 1855

@ ® @© @
(A) 1 3 2 4
(B) 4 1 2 3
© 4 3 1 2
Do) 2 3 1 4
Ans - (C) 4 3 1 2

Match List I with List I correctly and select answer :

List | List 11
(@) Dupleix 1. Nawab of Bengal
(b) Anwar-ud-din 2. British Admiral
(c) Shuja-ud-Daula 3. French Governor
(d) Polock 4. Nawab of Carnatic

(@) (b)) (o) (d)
(A 3 2 4 1
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23.

B 1 2 3 4
Cc 3 4 1 2
D) 1 3 4 2
Ans - (C) 3 4 1 2

uciguwisd 1-g9 uliguied 1l e et Qur@mss sflwmer alenlsvul CHTHOHMB :

U iguieo | uiguied 11
@) ®UGen 1. GUBIBTGT [HEUTL
(b) =iett6um S 60 2. SyBISlGOLILENL  HeTLIg)
(©) afmr 2 & Gmeneor 3. NOrEha SHouTenit
(d) GunBeurs 4. TGS HEUTL

@ ® © @

(A) 3 2 4 1
B) 1 2 3 4
Cc 3 4 1 2
D) 1 3 4 2
Ans - (C) 3 4 1 2

Match List I with List Il of the following with suitable options :

List | List Il
(@) Kural 1. Rishabham
(b) Thutham 2. Shadjam
(c) Kaikilai 3. Madhyamam
(d) Vuzhai 4, Gandharam
@ (b) (c) (d)
(A) 2 1 4 3
(B) 1 2 3 4
© 1 3 2 4
(D) 4 2 3 1
Ans - (A) 2 1 4 3

uligwied | ed@bgl ulguied 1l &g GQurmdss sflwmer el enuldh CHTHOHM.

U lguisv | uguisd |l
@) @yen 1. fagubd
(b) &0 2. FTHMID
(c) ewadenen 3. WSHAWITLOLD
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24.

(d) 2 pewa
(@)
A2
B 1
€ 1
(D) 4
Ans - (A)

(b)
1
2
3
2

2

= W N W b

4. SMHFHTJLD
(d)
3
4
4
1
4 3

Match List I with List Il of the following with suitable options :

List |
(a) Brahmanas

(b) Sama veda
(c) Aranyakas
(d) Yajur Veda

(@)
(A) 4
| 3
Cc 3
O 1
Ans - (B)

(b)

3
4
1
2
3

A W b~ P

List 11
1. Forest Texts

2. Guide Book for Priests
3. Ritual Texts
4. Book of Chants

(d)

AN NN

2

ulgwed | edmba uligusy 1l & QurmsHs

U lguisv |

() Ugmiosmrmbigelt

(b) amp Geusid
(C) Sy 6u0TLIMIGB6IT

(duwest Gougid

(@)
A 4
| 3
©C) 3
O 1

(b)

N PR W

w A~ P e

uguied 1

1. 660 BIT6LEHEIT

2. UGImalsT euflemly HITeL
3. FLMIG [BIT6VH6IT

4. 1DBHT HI6OSHEIT

(d)

A NN NN
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Ans - (B) 3 4 1 2

25. Which of the following is/are not correct?
Minto-Morley reforms of 1909 introduced the following.
I. The system of direct election was introduced in provinces
I1. The act did not enfranchise women
I11. 1t introduced dyarchy in provinces
IV. Communal electorate was introduced
(A) I only (B) l'and 111 (C) Il and 111 (D) Ml only
Ans - (B) 1 and 111
B GRUILLemeauseilsy HaipraraiBens @GBllbHs.
1909-b ewi® Wei@Lr — el FTAMmbImBsT Hp G L T HHBHhIHMm6N
BV WPSILGSSWSI.
l. By BxTHeL (Lpewmenll LOTH6VRIGH6MED GBLIGHSH WIS
Il. QuewisEmHE @ (BMemn CBHTHHH0M6V.
. @i enL sy Fewus OTHEVBIBTNEL FBLHHI WIS
V. sugliy eumy BHitmHed (pswmenul Sinsl(psLILBHS WG,
(A) I oG (B) I wopgp 1 wr_@io
(©) N opmio I o @Gio (D) I @
Ans - (B) | wignp T oG
26. Who bestowed the title Sardar on Vallabhai Patel ?
(A) Dadabhai Naoroji (B) Jawaharlal Nehru
(C) Mahatma Gandhi (D) Rajendra Prasad
Ans - (C) Mahatma Gandhi
QISLEVLITUI LIGL 6VId@ ‘FTHMT 616l LIL LD @l lguleuT wimi?
(A) srsmumil OpenGyred (B) e36uamiteursd Gm(H
(C) warsion &Ths) (D) @1mBxpaly Lyens
Ans - (C) wasrsior &b
27. During 1857 revolt which army remained loyal to the British?
(A) Bombay Army (B) Bengal Army
(C) Madras Army (D) Avadh Army
12 | www.winmeen.com | Paid Copy — Don’t Share With Anyone
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28.

29.

Ans - (C) Madras Army

185710 syemi® Yl Fuflesi Cumgd hFBeoowireb@ elgFarsons Smhed SITamieud 61g?

(A) Uyl GyremieiDd (B) oumismmen @ymemieid

(C) Gasemenr @yremieid (D) o16wrss) Ryramieid

Ans - (C) Qzeitene GyTamieuld

Pick out the wrong statement.

(A) Veerappa, the Zamindar of Koppal rose against the Nizam of Hyderabad in 1819

(B) Gadkaris were military classes who garrisoned Marath forts

(C) Chakra Bisoi was the khonds leader

(D) Sindhu and Kanhu were the leaders of the kola

Ans - (D) Sindhu and Kanhu were the leaders of the kola

DHOUBTET FaB36DMB  Sil19&BITL_L 6)LD.

(A) 1819-60 Gammiumed Gymerd MUAGIHTT lILIT 6I6HLIGIT MABSHITUTSH HET(HE 618JTH

SHleniTdd QFUISHT.

(B) sm_srilmsit ogmgauis GBI L HTaIeOTHET SLEITTH6IT
(C) sy L98aMUI eTeiTLIGNT CHTERIBBEMGT HENEVAIT SLEUTIT
(D) fibsans wBmid Haianl sl6aITSHsT GHMeumerlen HeneVaITaITTSET.

Ans - (D) fibdanS oBEpId SHetenS sTeTLaToHsT ChTeumemeil HemeVaITTEUTTEGI.

Match the following :

(a) Simon Commission 1.1928

(b) Nehru Report 2.1932

(c) Second Round Table Conference 3. 1927

(d) Communal Award 4,1931

@ ® @© @

(A) 1 4 3 2

(B) 3 1 4 2

© 3 1 2 4

(D) 2 4 1 3

Ans - (B) 3 1 4 2
SIPHEWIL_aIBenB  CUIT[HHSHIH

(a) emewsit &g 1.1928

13
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30.

31.

(b) B oibme 2.1932

(c) @yewr_meug eu’ L BGuwengy wrpTG 3. 1927

(d) sy anfls Hiey 4.1931
@ (b (@© (@

A 1 4 3 2

B) 3 1 4 2

© 3 1 2 4

D) 2 4 1 3

Ans - (B) 3 1 4 2

Identify the statement, which is not the cause for the failure of Quit India Movement
(a) British Government arrested key leaders in anticipation to the movement

(b) Nehru and Rajaji disbelieved in Direct Action

(c) Hindu Mahasabha and Muslim League supported the movement

(d) British Government suppressed the movement

(A) (a) alone

(B) (a) and (b) alone

(C) (c) alone

(D) (a), (b) and (d) alone

Ans - (C) (c) alone

GeusitenenuiBsrr GauaflCuim QuibsDd GHTeLNUIHL U 61FH HTT6ITOVED 6T6ILINS
OBTHSHSBLILLB6IT6N )UTFHMIGBNT60[HHHI DML UITENLD  HT6wT.

(@) amde SFThIBD (PHTOMFFNEMS BLONQEHMBUITES (PEHAU HMmevalToHamen Fenmuisd
DI HBHG.
(b) Grm wimd GyreaTed @ACWTT GBY BLAIYHMBHMeD BHIOLIGMSE MeubHae0meV.

(©)

(d) symder sygmhiIsDd ReIlUIbsHMS DSBS
(A) (8) wL e

(B) (a) wimib (b) wi G

(C) (c) B

(D) (a). (b) wimib (d) euslur epsiipid

Ans - (C) (¢) LG

Among the 50 students in a class, what percentage of students like biology and chemistry?
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32.

33.

Subjects No. of Students
Mathematics 6
Physics 12
Chemistry 15
Biology 8
Computer science 9
(A) 64% (B) 46% (C) 23% (D) 77%

Ans - (B) 46%

QM IGULIseTem 50 LoTaualTHellls0, eThHemen FHeld LomemauTsst Geugluluisy, o uifluisd
LITLBIbener 6l (hLDL|E) eormentiT ?

UMb LO6TT6UT &61T160T — 6T600T 6001 56
H6mN HLD 6
BuiBLIuied 12
Gougluuiev 15
o _ufflwed 8
g eufl el NuIed 9
(A) 64% (B) 46% (C) 23% (D) 77%

Ans - (B) 46%

For any n observations of data, what is the value of (x) — nx ?

(A) n(x) (B) (n-2)x (C) (n-1)x (D)0

Ans - (D)0

6bdH @ N slemideienn QHTGUIBEWD (X) —NX 61 WAy wng?

(A) n(x) (B) (n-2)x (C) (n-1)x (D)0

Ans- (D)0

Simplify : 0.728 x 0.728 — 0.272 x 0.272 / 0.456

(A) 0.456 (B) 1 (C) 0.728 (D) 0.272
Ans - (B) 1

amd&s : 0.728 X 0.728 — 0.272 x 0.272 / 0.456

(A) 0.456 (B) 1 (C) 0.728 (D) 0.272
Ans - (B) 1
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34.

35.

36.

37.

38.

If x/y = 3/5, then 5x +2y/5x-2y is equal to

(A)3 (B)5 (C)2/5 (D) 5/2
Ans - (B) 5

xly = 3/5, steiled 5X +2y/5X-2Y ai6iiLg| 61HBGHF FLOID

(A)3 (B)5 (C)2/5 (D) 5/2
Ans - (B)5

A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one half of
the age of his mother. How old is the mother at present?

(A) 42 (B) 40 (C) 45 (D) 48
Ans - (B) 40

@ BUflsl SBCUTMHW auwigh DeuT STWTHET auwFHed |baHleL STewiB LOLMISTH 2 6iTengl. 8
QUL MBIBT HPNHH Daufledl euwigl, DeuT STWTHET aIUIFHed UTHWITS 2 6o . SHTumflesr
SBOUTMSHW UG 6T6dTenr?

(A) 42 (B) 40 (C) 45 (D) 48
Ans - (B) 40

Find the value of 1.2 x1.2x1.2-0.2x02x0.2/1.2x12+1.2x0.2+0.2x0.2
(A) 42 (B)1 (©)o0.2 (D)14

Ans - (B) 1

12x12x12-02x02x02/12x12+12x0.2+0.2x0.2

(A) 42 (B)1 (©)o0.2 (D)14

Ans - (B) 1

A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount ?
(A) 12 (B) 15 (C) 11 (D) 10

Ans - (D) 10

QM Wdlasmiguisr alenso ¢h.1,500 e16ip GBlESILL (BeiTengl. RHens (0h.1,3505@ eBmmsy,
HOEPLIY FHNBHID 616016017

(A) 12 (B) 15 (C) 11 (D) 10

Ans - (D) 10

Which one of the following is the smallest ratio ?

7:13, 17:25, 7:15, 15:23

(A) 7:13 (B) 17:25 (C) 7:15 (D) 15:23
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39.

40.

41.

42.

Ans - (C) 7:15

Weireumeusieuipiisd WOSFFANIW efldHn wmg?

7:13, 17:25, 7:15, 15:23

(A) 7:13 (B) 17:25 (C)7:15 (D) 15:23
Ans - (C) 7:15

In a mixture of 60 litres, the ratio of milk and water is 2:1. If this ratio is to be 1:2, then what is
the quantity of water to be further added ?

(A) 201 (B) 301 (C) 50| (D) 60 |
Ans- (D) 60|

60 6L LT sevemeuulsv, LITeL oBMILD SHewteniflenr elFHD 2:1. Bbs aldas 12 Us QMBS
BCousuii(hGefed FmBHeTH BFTHdH dnlgul HewTeniMeT 6] WITg?

(A) 20 oS (B) 30 68 (C) 5068 (D) 60 69
Ans- (D) 60 s9

Two numbers are in the ratio 3:5. If 9 be subtracted from each, then they are in the ratio 12:23.
Find the second number.

(A) 52 (B) 53 (C) 54 (D) 55
Ans - (D) 55

3:5 o6l NAHHH6L G 6T6MIH6T 2 6M6eren. UMl eIGITEMSIEIHHAHID 9 SHPSSIIL L T6D
Sieme  12:23 616l B HHH 6N HBGD. STERILTOUDHI 6TEMIENEmIH  HT6WIH.

(A) 52 (B) 53 (C) 54 (D) 55
Ans - (D) 55

Sum of squares of three positive numbers is 608 and they are in the ratio 2:3:5. Then find the
numbers

(A) 6,9,15 (B) 8,12,20 (C) 10,15,25 (D) 14,21,35
Ans - (B) 8,12,20

syl Lend eTemIHeNe aITHHMIB6MT FnbBHed 608. GeID isibeuemiHa e eldHmissT 2:3:5,
6T6u60 Sibd 6TEmIH6IT WITensy?

(A) 6,9,15 (B) 8,12,20 (C) 10,15,25 (D) 14,21,35
Ans - (B) 8,12,20

If 30% of A=0.25 of B=1/5 of C, then find the ratio A:B:C

(A) 15:12:10 (B) 12:15:10 (C) 10:112:15 (D) 10:15:12
Ans - (C) 10:112:15
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43.

44,

45.

46.

A—ait 30% =B -6 0.25 =1/5C aiaflev A:B:C aietip el HHmHs e

(A) 15:12:10 (B) 12:15:10 (C) 10:112:15 (D) 10:15:12
Ans - (C) 10:112:15

What is the third proportional to 0.34 and 0.50 ?

(A)0.74 (B) 0.75 (C)0.76 (D) 0.77
Ans - (A) 0.74

0.34 wimib 0.50 6160 6T6vIHBEME LPGIMBTID M HID 6Tt ?

(A)0.74 (B) 0.75 (C)0.76 (D) 0.77
Ans - (A) 0.74

In a cylinder, if radius is doubled and height is halved. then what happens to the curved surfaces
area ?

(A) Halved (B) Doubled (C) Does not change (D) Four times
Ans - (C) Does not change

Q0 2_HWemuled, QUIID Q@ WLMSTESUULH, 2 WJD UTHWTS GmBHSULLTED DIH6d
ULl sTeieaeum@Lp?

(A) urdwr@ (B) @®m wLmsr@lD
(C) wrpra BmeEEID (D) mrreti@ oL MBISTGLD
Ans — (C) wrprgl B méEIo

The length of side of a rhombus is 5m and one of its diagonal is 8m. then what is the length of
other diagonal ?

(A) 5m (B) 7m (C) 6m (D) 8m
Ans - (C) 6m

QM FTUISHITSHET  LbSHHIH LMD 5 15, SN @ penevall L HHleir Hembd 8 15 ereled
SIS LOBEMI[H  LPMEVIL L SHEN6 HemD uIrgl?

(A)518 (B) 718 (C)618 (D) 818
Ans - (C) 618

A,B and C can complete a piece of work in 24, 6 and 12 days respectively. If they work together,
in how many days they will complete the same work ?

(A) 1/24 day (B) 7/24 day (C) 24/7 days (D) 24/11 days
Ans - (C) 24/7 days
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47.

48.

49.

50.

A, B iopmiio C erstilianmaeit @m Galemsvsnul (pigpbs (1pedm@ul 24, 6, 12 BT &6iT 61(BHHIH
Qmeiteu etafled, 9IB5 Ceuemevenl IGUTHST SiwaEUBLD eWewibH CFUIHI (LIRSS 615 Hme
BT H6T CHemeulii(BLd?

(A) 1/24 wrei (B) 7/24 mresit (C) 2417 mreit (D) 24/11 mreir
Ans - (C) 24/7 preit

12 men complete the 2400 sg.m ploughing work in 10 days. How many men are required to
complete 3600 sq.m ploughing work in 18 days ?

(A) 10 men (B) 15 men (C) 18 men (D) 20 men
Ans - (A) 10 men

2400 5.8 Plevdens 12 Gausmeowml &sim 10 BT &6l6d @ (pghl (plul. 3600 F.15. Heodhend 18
BIL&6MM60 2 _(pauPHBE 61HHemen Geusneowiml &eim @Hemeu?

(A) 10 ey =6 (B) 15 o1 ssit (C) 18 =y meit (D) 20 oy meir
Ans - (A) 10 =1 seit

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in 11
days. In how days, 3 times the work can be completed by 8 men and 6 boys ?

(A) 21 days (B) 18 days (C) 24 days (D) 36 days
Ans - (A) 21 days

2 yemimeil, 7 Fpensst Caibd @ Cousmeoullsnen 14 BT Hefled (PQULT, 3 S 6wTH6i, 3
Ffmeuiaset Caiipbgl, 2165 Gousmsvenws 11 BT &efled GFUISI (WIQLILIT. 6T6aNed, 6% Guimsv

apsiiml oL MG Gouemsvenul, 8 yeuideil, 6 FmialTHeT CaFThbaHl eihHemen BT Hoils0 OFUISH
aplir?

(A) 21 Br_sei (B) 18 mrr_msit (C) 24 pri_msit (D) 36 mim_aseit
AnNs - (A) 21 Bri_sei

The length, breadth and height of a hall are 8m, 40m, 4m respectively and the hall has one door of
area 3m x 1.5m. find the cost of painting the walls at the rate Rs.200 per square metre.

(A) Rs. 28,800 (B) Rs. 59,900 (C) Rs. 27,900 (D) Rs. 60,800
Ans - (C) Rs. 27,900

QM Diempullell [Hemb, BV WBEID 2 wiFlD (WwempGw 8 15, 10 15, 4 15 wBmid 3 185 X 1.5
ugliLene)] OBTERIL @@ SHOYLD 2 66NHl. eUtlenild LF FHJ LBLLGHHSG h. 200 QFeveur@ld
GTEIIMTEY, DIHT FoUTHEHDHE 6UTewID LF elelalsne) OHTend GFevsur@Gb?

(A) . 28,800 (B) . 59,900 (C) @. 27,900 (D) ¢p. 60,800
Ans - (C) . 27,900

If the capacity of a cylindrical tank is 1848 m? and the diameter of its base 14 m, then find the
depth of the tank ?
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51.

52.

53.

54.

(A)12m (B)14 m (C)15m (D) 18 m
Ans- (A)12m

QR 2 _HweT algul QHTliguilsi GHmsiemenauTengl 1848 5° BEID SiBEILW 6l LDTes)
14 15 eiadl6d DIHEnIML W SYPID WmgH)?

(A) 128 (B) 14 8 (C) 158 (D) 18 18
Ans - (A) 128

The length of a chain used as the boundary of a semicircle park is 72 m. what is the area of the
park ?

(A) 77 m? (B) 91 m? (C)126 m* (D) 308 m’
Ans - (D) 308 m?

Semy eIl L elgeleorer LhisTaler Gauedwmsll LWeUBSHSUILL L FHhiseluler Hemd 72 LS
6TeMl6D, Lmismelle UPLILene)] wrgl?

(A) 77 8 (B) 91152 (C)12618% (D) 308 18°
Ans - (D) 308 18°

Find the least number which when divided by 5,6,7 and 8 leaving a remainder 3, but when
divided by leaves no remainder .

(A) 1677 (B) 1683 (C) 2523 (D) 3363
Ans - (B) 1683

QM WFABD etemr 5, 6, 7 LOBDBID 8-YeO UGSHSLUBLOLTIRS 16F 3 UBHa|D, 9-60
AGSBLILGLOUTWRS BHD HIaD Sevensn 66fled SibH eTewt WimgHi?

(A) 1677 (B) 1683 (C) 2523 (D) 3363
Ans - (B) 1683

Find the next number in the following series

4,6,9,13 1/2

(A)2011/4  (B)223/4 (C)19 (D) 17 1/2

Ans - (A) 2011/4

LeitouBd QFHTLf6d DIBHSHI UMD 6TENTEn6mT  HT6HID.
4,6,9,131/2

(A)2011/4  (B)223/4 (C)19 (D) 171/2

Ans - (A) 2011/4

Consider the following statements :
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55.

Assertion (A) : Scholars distinguished a culture midway between Palaeolithic and

Neolithic called Mesolithic.

Reason (R) : The chief characteristics Mesolithic were the stone implements used

were extremely small made up of Chalcedony and silicate instead of
quartzite.

Select your answer according to the coding scheme below :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true but (R) is not the explanation for (A)
(C) Both (A) and (R) are true and ® is the correct explanation for (A)
(D) (A) is true but (R) is false

Ans — (C) Both (A) and (R) are true and ® is the correct explanation for (A)

SIDHHEMIL U HEBLIBIHENET  H6U6DT

ampum (A) : LeDIpUWl BBBTVSHHBGID LUHUW SHBETSHHBGID G L BTels STe0shmb

BML_BBHTEVLD 61601 DB EHTHET CoumILIBHHSHIa NB6NT.

amyewid (R): SenLSoHBoHETe0SHAG (SO0 LIGHILITGS SHHBLILIBGLAIGT LIQHHHMBHEHHEL

ugleomwl BevF Fmupenl Wl Oleueitenip LDswid H6VVID LOBMID LDGWIHB FhHIHIL 65T
LFOULL gD QsmewiL sad fpflu Sieneleoren SBHMHaIH6T Y @LD.

Sp&HEem GBuibsensn Csremi® Fflwmer alenLenul CaHiTHOHHHH)LD.

(A) (A) wppio (R) BrenBo Heuml

(B) (A) wigip (R) afl aenmsv (R) eteiugr (A) el aflmes srgemid  Sisvsv.
(C) (A) wignp (R) il (R) eteiiug (A) elleir sfluimes Smyemid 6.

(D) (A) sl syemmsd (R) soumi

Ans — (C)(A) wpmid (R) M (R) eteiiuig (A) elein Fflwimen &IyeiDd S

Match the following :

(@) Naand K — (i) Obtained by electrolysis of fused salt

(b) Cu and g — (ii) Occur only in native state

(c) Au and Pt — (iii) Occur both native and combined state

(d) Na and Ca — (iv) Reducing agent in metallurgy

(e) Al and Mg — (v) Occur only in combined state

(A) (a)-(v) (b)-(iii) (c)-(i) (d)-(i) (e)-(iv)
(B) @-(@v)  (b)-(i) (©)-(i) (d)-(iii) (e)-(v)
(C) (a)-(ii) (b)-(iii) (©)-(v) (d)-(iv) (e)-(i)
(D) (a)-(iii)  (b)-(ii) (©)-(i) (d)-(v) (e)-(iv)
Ans - (A) (a)-(v) (b)-(iii) (©)-(i) (d)-(i) (e)-(iv)
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56.

57.
58.

CUTBHSIS -

(a) Na g K - (i) 2w 2 L HSMBLEGSSI60 Sl b Bs!.
(b) Cu wip> Ag - (i) M55 Baveoulsy LI G vl b Bs.

(c) Au wipb Pt - (iii) salHs wipID Gibs Hemeouls Sl bABs!.
(d) Na wppio Ca - (iv) 2_Geosailwedss @BEE Hyen

(e) Al wipid i : (V) Gsirss Beamsoullsd 10l GO AemLSBBE).

(A) (a)-(v) (b)-(iii) (c)-(i) (d)-(i) (e)-(iv)

(B) @-(@v)  (b)-(i) (c)-(i) (d)-(iii) (e)-(v)

(C) (@)-(i) (b)-(iii) (©)-(v) (d)-(iv) (e)-(i)

(D) (a)-(iii)  (b)-(ii) (©)-(i) (d)-(v) (e)-(iv)

Ans - (A) (a)-(v) (b)-(iii) (c)-(i) (d)-(D) (e)-(iv)

Which of the following is/are wrong ?

I. Mg,Cs on hydrolysis gives acctylene

I1. Be,C on hydrolysis gives methane

I11. Al,C; on hydrolysis gives allylene
(A) land Il B)Mand Il (C)land il (D) Il and Il

Ans - (C) I and 11

L eiTeaHeNCTOIBHIET HeauBTanenal 61&l/eTenel?

. M@.Cs BimBU@ Il 1w sl DN 1965mannd  HHLD.

Il. Be,C prmbu@iiy oiemlpbgl 1565856 GeuefuiBid

1. AlLCs SImBUGLIL DIDLBSHI SI6L6Smeveneiid SHpLD.

(A) 1 opgp 11 (B) 1 wpgio 111 (C) 1 wpgio 11 () 1,1l wpgio 111

Ans - (C) | g 11

Agricultural unemployment may be classified into :

I. Seasonal unemployment

Il. Disguised unemployment

I11. Chronic unemployment

Which is the correct answer ?
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59.

60.

(A) I'and 11 only (B) I 'and 111 omly (C) land 111 only (D) I, and 1
Ans - (D) I, Il and I
afeuFTwsHsiempuisy GemeucoulsiTenioenul SHPHBHEMILQITH UHBLILIHEHSHEVMLD.

1. LmeusTev Gauemsvulsitenio
Il. LenB(psH Geusnsvulsiento
Il. blosHs Balsmevuisiienio

gilwmenr uHemev @GP 6D

(A) I opmo 1 o G (B) Nl wimio 1wt Gid
(©) I oo 1w B (D) LI wopgio HI
Ans- (D) I, Il wsgo 1

Fill up the blanks :

National population policy adopted in 2000 with a view to encourage and aim at
stabilizing the population by

(A) Two child norm, 2020 (B) One child norm, 2030
(C) Two children norm, 2046 (D) One child norm, 2050
Ans - (C) Two children norm, 2046

STedUNL_misemeT BIFlLS :

GBLUSIHBEG - 61N 2 HGHMBBAD DB CIHTENHEDUI  ------=--==--= D w960
BensulILBHHND 2000-10 yewngedt CHHAW 10dH6T OFHTend CHTeTenHUND GFHBBICSETETETILIL LS.

(B) @rewi6 ®whms b, 2020 (B) 9® ®wbms b, 2030
(C) @rab Gbms FHLid, 2046 (D) o Gwbms L, 2050
Ans - (C) @rewis Ghmsd HiLib, 2046

Match the following and select the correct answer

(a) Taxes revenue 1. Provided funds

(b) Capital receipts 2. Taxes on income and expenditure
(c) Non-plan expenditure 3. Sales tax

(d) Value added tax 4. Interest payments

@ (® (© (d)
A 4 3 2 1
B) 1 3 4 2
C) 2 1 4 3
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61.

62.

63.

D) 2 3 4 1
Ans - (C) 2 1 4 3

Lsireumeusiauienmll QuUTmHg Fhwmer elenLenwl BHiTe] GFUIS.

(@) sufl eupouTU 1. eUmARIBTY el Bl

(b) epsumen  sumeUTL 2. aUmaUTUl BBID GFeve| WHmenr euflssit
(c) S Lifleveor QF6ve) 3. elBusner el

(d) w&iiy gl 1gus e 4. e’ lg QFVIGHHIHEVH6N

@ ® © @

(A) 4 3 2 1
B 1 3 4 2
© 2 1 4 3
(D) 2 3 4 1
Ans - (C) 2 1 4 3

The National Statistical Commission of India was healed by

(A) Monteck Singh Ahulwaliya (B) C. Rengarajan

(C) Development finance (D) V.K.R.V. Rao

Ans - (B) C. Rengarajan

@bHwrelen GHAw Lieierl elleuy SememIUID EOUTHI HEM6VENIDUTE HMLOH HHHE!.

(A) e s dmi SieueuTedulm (B) 8. Qprisymegen

(C) seymb greged (D) 61.8.2y.6M.gil.

Ans - (B) 8. Qumispregei

The structure of Indian Financial System does not included

(A) Industrial finance (B) Agricultural finance

(C) Development finance (D) Deficit finance

Ans - (D) Deficit finance

bW BH (wempuler &Ll SHemed 2 6oL SE WS D606V
(A) Opnfsd Bl (B) Gouermenst 55
(C) sustiitsd) g (D) uppréEEGmB Hlg)
Ans - (D) uBprs@msB Mg

The MGNREGS differs from other poverty alliviation measures in the following respects
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64.

65.

66.

I. 1t focuses on income generation to the targeted poor.

I1. 1t is built around the nations of citizenship and entitlement.

I1. 1t facilitates disclosure by means of regular and social audict.

IV. It opens as per the dirctions of the State/Central Governments/

(A) land Il @) nandill  (C)landlV (D) lland IV

Ans - (B) Il and 111

MGNREGS I gipsoie Bob@D S LnkiseledhbaHl Spsaamil alshshas0 CaumuBangl.

l. MGNREGS giiinii L genipsefien sumeutulens HnHafe@Gio Ghmaasipsnl wigl.
1. B3 GYIEHT WBBID DiglumL. 2 flewenul PHTTIOTEHS CHTemT[H
2 (HUTHBULIL (BSI.
II. CaHTLITHS LBMID FUPHTW HemTETellILSBHTEN IH(LpenBEmen Mg CFuIHBEHI.
(AVA LOTH6V OBBID SHHW DTFH6M6T MM BEHHH 6mhIS CFUIOLIHB MBS

(A) I wpgo 1 (B) Il opmio I (©) I woBpd 1V (D) Il oBpo 1V
Ans - (B) Il wigio 11

Justice D.P. Wadhwa committee was appointed by the Supreme Court to examine

(A) Insurance schemes

(B)The level of black money in the country

(C) The functioning of rural development programmes

(D) The Public Distribution System

Ans - (D) The Public Distribution System

o FF HAWGBHHTL Qend UJTUISBSTE HHWIsT D.P. aurdar @& Siendslul L gl
(A) s (s &L misei (B) BT 19651 &I LiswidHen  iene]
(C) Aymo euenitFdlg HLLmuseledn GaulsoaumBa6iT (D) Qursl HBsTE (Lpenm

Ans — (D) Gurgl eB8&HTE (Lpenm

The Nutrient Based Subsidy(NBS) policy for fertilizers was implemented in India in

(A) 1996 (B) 1977 (C) 1991 (D) 2010

Ans - (D) 2010

Bbywrellsd o JhiseEndaTen oal L FFHHlen glitenuleoren wrafid CETeTemnsd SHieunigul
46001 (B.

(A) 1996 (B) 1977 (C) 1991 (D) 2010

Ans - (D) 2010

Which Indian city has beeb declared as the cleanest city in the ‘Swachh Bharat’ ranking 2015 ?
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67.

68.

69.

70.

(A) Kochi (B) Thiruvananthapuram (C) Bengaluru (D) Mysuru
Ans - (D) Mysuru

‘FHHD OF @bAWT Ulguiedsd 6hd RbHW BEJD e HHHomen HHJD sem 201560
Caitey Gauwiu’ [Beiterng?

(A) Qeréd (B) dmsuampgigid

(C) GunisEn (D) omwoenm

Ans — (D) enogs®

Who is the chairman of the 20™ law commission of India ?

(A) Justice. Ajit Prakash Shah (B) Justice. Srikrishna

(C) Justice. Katju (D) Justice. K. Balakrishnan

Ans - (A) Justice. Ajit Prakash Shah

AbsHwmellsn 206ugH FLLEGAPN 6N HemeveUT WITiT?

(A) BPLg). oieds Ligstay agr (B) p8lugl. v dmagemm
(C) saug. &I a3 (D) paug) K. umevdmademmei
Ans — (A) sud. o185 Ugsres egr

Recently Union Government has decided to develop a city as spiritual capital of the country.
Which among the following is this city ?

(A) Ujjain (B) Varanasi (C) Nasik (D) Bodhgaya
Ans - (D) Bodhgaya

SIS HTVHBHD WHHW DFFTUIH B BTG @ BHEJHIne UE L6l HdH
HWEVBBIIOTE 2 (HUTHS (IPIQORIBHHIGNENHI. HDHHEWIL QIBBIGT DFHI 61hFH HSBJLOTGD?

(A) 2_m0ue (B) sumyemind) (C) prds (D) ysssw
Ans — (D) yssaswn

India’s largest telecom operator is

(A) TATA (B) Bharati Airtel (C) Reliance (D) Aircel
Ans - (B) Bharati Airtel

@pgwmelst WsICUlul OFHTemevd OHTLITL HiBieueTd 61gI?

(A) L (B) unrd) girGiLev (C) Nemevwistiord (D) giroLsd
Ans — (B) ungg) girGLsv

Which corporation in Tamil Nadu was awarded the best corporation award for the year 2015 ?

(A) Chennai (B) Vellore (C) Madurai (D) Tirunelveli
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71.

72.

73.

74.

Ans - (C) Madurai

SODBTL 6 61hd MBBIT.Hlb@ 2015 b yeingBaETer Fmhs TSI ailmans
CuBBEI?

(A) Gz sitensm (B) Gougyrir (C) waiemy (DENGEAVELTRY
Ans — (C) wgieny

Every year 13" of August is observed as

(A) Voluntary Blood donation day (B) World Hepatitia day

(C) Swachch Bharat day (D) Organ donation day

Ans - (D) Organ donation day

Q6UGUTTH SUETBHID ‘DPYHEVOL = 137 -ommemoemeeen BTenTEd  SignlFfbaiuGaBEs?
(A) seemitel @rHHID UPHIEGID BI6HT (B) 2_6v5 ®6065760 SNpBFS  B6IT
(C) anuienip @pAHuIT Brei (D) 2_mitny smeoid [Beir.

Ans — (D) &_miliy &reid [B6iT.

‘Internationa Day of the Disappeared’ observed by United Nations Organization every year fall
on

(A) November 30 (B) December 26 (C) August 30 (D) October 25
Ans - (C) August 30

@6UOEUT(H UIBLD MBSl BTHS6T FenLUTTEL ‘DUBlev 2 _60&5 SHTemImosy GuTsmeUT &eurid’
SiengfNSsILGLD  BI6iT.

(A) meubuir 30 (B) i9&buir 26 (C) eymer- 30 (D) oi86Lmuir 25
Ans - (C) symeror. 30

The President of Sri Lanka as on June 2015

(A) Maithripala Sirisena (B) Ravi Karunanayake

(C) Mahinda Samarasinghe (D) Mahinda Amaraweera

Ans - (A) Maithripala Sirisena

et 201560 IfeomisTellsir eI

(A) smwgiureor ANGFem (B) yol  smemimpmuIGs
(C) vafbsT FoFdmcs (D) waslibst Siogeiym
Ans — (A) enwsfumeor HfGaemT

Sunhak Peace Prize was won by

(A) Ms. Zhanna Nemtsova (B) Zaina Erhain
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75.

76.

77.

(C) Dr. Modadugu Vijay Gupta (D) Mr. Zia Haider Rahman
Ans - (C) Dr. Modadugu Vijay Gupta

aGshiamrds oewog uflfensn HLgF GaemperT EeuT

(A) S gmem GBIDGFTeUT (C) emggemm  sriTeMBU 16T
(C) LrsLiT Gurr®e olmul G&lst (D) gy quim HOBHIT TRUBLOT6T
Ans — (C) LrsLT QuorLr®g elsmul @rism

Which gas has been recently discovered in planet mars ?

(A) Hydrogen Sulphide (B) Ammonia

(C) Methane (D) Ethane

Ans - (C) Methane

FLOUSPH60 OFelUTUl HFSHH60 6lhdH 6uTU| HewrL ML Beiengl?

(A) ewamLrege FeoenLB (B) @iGomesfiuim

(C) 858H60 (D) wg8mei

Ans — (C) 1558sei

Which Indian Temple was awarded ‘Award of Excellence’ for conservation by UNESCO in the
year 2015, in Bangkok ?

(A) Guruvayoor Temple, Guruvayoor

(B) Vadakkunnathan Temple, Thrissur

(C) Padmanabhaswamy Temple, Trivandrum
(D) Tirumala Temple, Tirupathi

Ans - (B) Vadakkunnathan Temple, Thrissur

6ibd DbHw Casmulendd ugmofiiiBarer 20154b yewTgen Hemev Fmbhs elma
UNESCOaursd GUBIBTEHE 60 aUIpmIGBLILIL L Gi?

(A) ®meuruyT Gasmuilsy, (B) su_ss@eniprsen Garulsy, Sflerogst
(C) usopruseumd Gsmullsd, Smeusmbsyrd (D) gmwsor Camulew, smLL

Ans — (B) auLs@aprsar Gamulso, sflero@

Which country devalued its own currency in August 2015 ?

(A) India (B) Japan (C) Germany (D) China

Ans - (D) China

61bd BTH SHeTenlenl Ul UssibdHlen alidensr berol. 201560 HTemsBal @GemmHHaHl?
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78.

79.

(A) @pdwir (B) sgtiumest (C) Qegirioenfl (D) eurm
Ans — (C) Ggirioe

The 50™ Anniversary of 1965 Indo-Pak war was observed on

(A) 27 August 2015 (B) 30 July 2015

(C) 30 August 2015 (D) 28 August 2015

Ans - (D) 28 August 2015

1965 @bHw urslerogrenr Gumfelr 50-yeudH PG SHeld DgiFflbslul L Hrei
(A) 27 symaor. 2015 (B) 30 g8emev 2015

(C) 30 symeror. 2015 (D) 28 symaor. 2015

Ans - (D) 28 sumeror. 2015

Match the Android OS version with their names :

OS version Name
(&) Android 6.0 1. Kitkat
(b) Android 5.0 2. Lollipop
(c) Android 4.4 3. Jelly Bean
(d) Android 4.3 4. MarshMallow
@ (0 (@
(A) 4 2 3 1
(B) 4 3 1 2
© 4 2 1 3
(D) 3 1 2 4
Ans - (C) 4 2 1 3

UL ITUIG Swnhig QFwsvwenpuiena SeuBplel QUWTsEpLa Flwrsl QUIGSSHIS :

Quimig GFweoLT(H O
(@) een gmuiiG 6.0 1. @ Gsl_
(b) e _gmuiG 5.0 2. eomedumLl
(©) e gmuiG 4.4 3. Ggeved e
(d) syemrgmui® 4.3 4. miteroGoGeur

(@) (b)) (o) (d)
(A 4 2 3 1
(B) 4 3 1 2
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80.

81.

82.

C) 4 2 1 3
D) 3 1 2 4
Ans - (C) 4 2 1 3

Government of Tamilnadu awards Dr. A.P.J. Abdul Kalam award for a Tamilian foor his/her
contribution to

(A) Development of rural health services

(B) Scientific, art and literature development, humanities and student welfare

(C) Tamiil literature development

(D) Development of Sports

Ans - (B) Scientific, art and literature development, humanities and student welfare

H0ps o Dr. .19.623. oiimed seomd almend @ SOWHESG RHHIMBUTEH
unIselUIBETS  QUphIGHBS.

(A) Armotiys ssTHTy Gobur®

(B) oifieluisd, semev wBmid Gevdbdul euenisd), wealld GHUID OBEHID LOTERIEIT [HEV6H

(C) s101p Bevdbduwr aueniTEF

(D) elemenin’_Bé &Hienm  (peTGaBHBID

Ans — (B) oiflelwisd, semev opmid Revdbdlw eenied), wefld GBUID LOBBID LOTERIENT BV

Identify from the options the name of the Central government portal for students looking for
educational loans

(A) Vidya Vikas (B) Edu Care
(C) Vidya Lakshmi (D) Shodhganga
Ans - (C) Vidya Lakshmi

LoTemTeUTEe6N &evaldh SHL 6 OHTLITUTE DSHHUI STF6 HHEUD BHIDSHBEWIL UBMIGT 6TFH60M6D
o GiTeNGI. 6IHILINGHH HEwTLSIb.

(A) alsw elsrad (B) e1p Gesit

(C) sw oL &1 (D) Garghomist

Ans — (C) ellguwr eor_&id

Which of the following day is observed as the National Statistics Day ?

(A) June, 8 (B) June, 29 (C) July, 1 (D) Octaober, 5
Ans - (B) June, 29

BpHeWIL 61bH Hemd “BHduwt Lsiteriuied SHerons” DgiFflbslitbanps?
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83.

84.

85.

86.

(A) 36, 8 (B) eSeir, 29 (C) e8emev, 1 (D) =186, 5

Ans - (B) 361, 29

‘Pay Zapp’ a mobile application to make digital payments was started by which Bank ?
(A) SBI (B) ICICI (C) HDFC (D) HSBC

Ans - (C) HDFC

semfiliGuT cpevld LewId CFensHs ‘Pay Zapp’ eleiianild ens@ud QFuislsnsv 6lbhdh  aUmhIE
SHIQURIBIU|6TTeNg?

(A) srerv.19.51 (B) @.8.09.81.
(C) Gam&.ig.6101.4. (D) Gamé.srerv.19.4
Ans — (C) Qamé.ig.6101.4.

In the Australian Federal elections 2015 for the Prime Minister of Australia, who emerged as
winner ?

(A) Tony Abbot (B) Kevin Rudd
(C) Malcolm Turnbull (D) Julia Gillard
Ans - (C) Malcolm Turnbull

2015 oervdBredw ..OUGL Qb CxTHel6d ervdBredwr s whAfwirs Geumns GuLmBeuT
wimir?

(A) GLmell Guim (B) Qsoflen B

(C) wmevsmd GLiTeb 60 (D) g8edwimr &eveorit(®

Ans — (C) wmevsmd GL e sd

2020 Olympic games will be held at

(A) Beijing (B) New York (C) Chicago (D) Tokyo
Ans - (D) Tokyo

2020 gedinliss eflewemwim’ G Gumiy BenL GUBID G 1D

(A) Quuigd (B) ®uywiires (C) d&nBar (D) GLmésadGur
Ans — (D) GLrsa@wm

Nobel Prize 2015 in Physics was given for the discovery of

(A) Path of electrons in electro magnetic wavws

(B) Path of neutrons in magnetic fields

(C) Proton oscillation

(D) Neutrino oscillation
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87.

88.

89.

Ans - (D) Neutrino oscillation
QuiBllwevdarenr Gpmusd ufla 2015 RbsemBLlglilBaETs aphISLILIL (BeiTengl?

(A) 106IBTHS Dme0H6iMed 6166VEL JT6IH6 M6 LITend
(B) &1bs euwied Lpiiysemey Bluyl greisefsr LTeng
(C) uBym Lett ydBevaes
(D) Bluyr MGeurm  eydBGeva6n

Ans — (D) Bluyl MBeom = H@sveeir

In October 2015 Russia’s Sergey Karjakin won the World cup for
(A) TableTennis (B) Chess

(C) Golf (D) Polo

Ans - (B) Chess

gegwmelsi OFTed siregrdlsn HGCLTUT 2015-60 GsuellenenUTlIge 2 60HdH CHTUmMLIEH
OleusdT36uiT

(A) Gwengg GLsiteaNerd (B) sgiymisid
(C) Bsmev.".1 (D) Gun@sur
Ans — (B) Faigmisid

The Administrative Reforms Commission of India was set up on 5 Jan. 1966 under the
Chairmanship of

(A) K. Hanumanthaiya (B) H.C. Mathur
(C) G.S. Pathak (D) Morarji R. Desai
Ans - (D) Morarji R. Desai

1966-0 <uemi® maeufl Himser 5-b CHE gHUBHSILLL BB Biers ETHmes
DLEMEUISHSH60T  FHEM6VIT

(A) K. amgniobsuium (B) H.C. wonsgmi
(C) G.S. utsss (D) Qumymred R. Gsamul
Ans — (D) Gumgmited R. Gsmemul

“The Supreme Court in the Indian union has more powers than any other than any other Supreme
Court in any part of the world” — Who said so ?

(A) S.M. Sikri (B) Sir Alladi Krishnaswamy Ayyar
(C) M.C. Setalwad (D) Justice Kania
Ans - (B) Sir Alladi Krishnaswamy Ayyar

“QhAHU MBHUWHHI 2 FF HAIRIBID 2 60H6 6lhH BT IQEVI6TEN 2 FF HAIDOIBIHMSD
alLoyd oIHS FSMID 2 DLWIGH UG, ReueuTm dnpsluteut wirr?

32 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

90.

91.

(A) eterv.e1ib. e (B) 51 oi6v60mg Smegewmiasurisl iiulm
(C) 610.8.0FL606us, (D) pug smefiuim
Ans — (B) &1 ois060mg & hargemiaeumidl S

Consider the following two statements consisting of Assertion (A)) and Reason (R) and select
your answer using the coodes given below.

Assertion (A) : The administrative reforms commission recommended Lokpal and
Lokayukta
Reasoning (R) : These are for the Redressal of citizens grievances.

(A) Both A and R are correct and R is the correct explanation of A
(B) Both A and R are correct but R is not the correct explanation of A
(C) Ais True but R is false

(D) Ais False but R is correct

Ans — (A) Both A and R are correct and R is the correct explanation of A

Uereu@md Bm eurdswmiseisy QaETGHaIL Beien Fapm (A) aryenid (R) suduisneisemerd
BHBHIHO OBTemi(h SPSTamId OHTGLLBeMMHHSH 2 miEeT almLedwl Ggfey CFuis.

&MmbaE (A) : GoordLimsd OBEID Gevmd YU IHSHTMR GBUGSHINSBS BiTauTs FTHHHDH
ewemlD  LfbEHenTHBHH!.

amyewid (R)  : Qeweudssit Gloobseled @GmBEmen GCUIHEGMGMBETS 2 _6iT6le.

(A) Aopmid R eu8w Gpemipo slwngd wpmid R eeug A uler aflwmer ellendsom@Lo.
(B) A wpmid R w8 Gpedipio sflwm@d wpmid R eemg A uller sflwmer  eflenébasiososn.
(C) Asflwnaid syemed R Heum @10
(D) A souml eu@Id enmed R sflwn@io

Ans — (A) Appid R sy @reaio sfllwun@d wpmid R eeiugl A ullesr gflwimen
el 61T&BLOM G LD.

Which one of the following is not correctly matched ?

(A) Article 153 — Office of the Governor

(B) Article 156 — Term of the Governor

(C) Article 154 — Executive authority of Governor

(D) Article 155 — Removal of Governor

Ans - (D) Article 155 — Removal of Governor

LeireIpUIBBIST SHeIBTe SenenrhbslILL BeTendl 61g?

(A) a8 153-ou6mBT LS (B) a8 156-26mET LHeldbsmevld
(C) g 154-u6mHT BiteuTs g SMTID (D) Mg 155 — SuEmHHT UBe [BdhHID
Ans — (D) eflg 155 — u6mBT LSl BoHsID
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92.

93.

Which one of the following statement is/are true with regard to formulation of the Government ?

(A) There is a Rule in the Business of the Government which mentions that single largest party
that gets majority will form the government

(B) There is no written rules on inviting the single largest party by the 2™ largest party to form
the government. It is a convention

(C) There is a provision in Part I of the Constitution
(D) Representation of Peoples Act provides for inviting the longest party to form the government

Ans - (B) There is no written rules on inviting the single largest party by the 2" largest party to
form the government. It is a convention

SUIFTRIBD gBUGSHHIONGE GHHEI SDHEHEHIL 6lhH Fabul/FnBuisael 2 aueno?

(A) @8 QumbUTEIEND CUBB &L AWITETEl AITHSHE DTFTHRIGHMS NMDHGID 616010 TF
Gawedpenp alFHulsd @GUIULILLILILI9HBIBEHI.

(B) @8 Qupbutsieny GQuBB &L ACWT (1) JIBBEG ABHH STHiLTeud Heneoulsd
BrbeIb

(C) adwevenioriien LGS |60 Asparen alh SHbSBE.

(D) wéseir 1gABH FlLbHed ol QuEBLUTSEND QUBB &LF, TFTHRIGD DMIDHSD
SIMPSHLILBGSHMBHI 61608 FnBISBIT.

Ans — (B) &g Gu@iburssnn Gupp sl dBwr (o) DsBE& SBHS e tad Heneouisd
BmEGWD

Match List — | with List — 11 :

Laws Years
(a) The Banking Companies Ordinance 1. 1966
(b) Special Bearers Bonds Ordinance 2. 1980
(c) Unlawful activities Prevention ordinance 3. 1984
(d) Terrorist affected areas ordinance 4, 1981

@ ® © @

A 4 2 3 1
B) 3 1 2 4
© 2 4 1 3
o) 1 3 4 2
Ans — (C) 2 4 1 3

uligwied |- ulguwed -2 et GQUTHSSHIS :
FLULID G)(HL_MBIG6IT

(@) oumid) @GOWmHIGET SiUFy FL LD 1. 1966
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94.

95.

96.

(b) Amiiy Aemewrapns LSBTHIEET SiUFTEFL L ID 2.1980
(C) FLLSHBG LBOUTET [HL6NIYEHNBHBHMEI

SBHHGWD FLLID 3.1984
(d) gelgaurdleenmsed LUTH GBI L LIEGESH6IT

SIUFY FLLID 4, 1981

@ ® @© @

(A) 4 2 3 1
(B) 3 1 2 4
© 2 4 1 3
(D) 1 3 4 2
Ans — (C) 2 4 1 3
The protection of Civil Rights Act came into force on
(A) 19" December 1974 (B) 19™ November 1976
(C) 19" December 1975 (D) 19" November 1977

Ans - (B) 19" November 1976
G 2 MedsT UTHISTIL FULID SWPashE O®memi(® eugliul L [BI6i
Q& LDLIT [BEULDLIT
(A) 19" 1974 (B) 19" 1976
Q& LDLIT GULDLIIT
(C) 19" 1975 (D) 19" 1977
Ans - (B) 19" peutbLir 1976

Who one of the following persons is the ex-officio chairman of the rules Committee, General
Purpose Commisttee and Business Advisory Committee?

(A) The Speaker (B) A member elected by the house
(C) The Deputy Speaker (D) A member of Ruling Party
Ans — (A) The Speaker

Lsireu@UaI®ST 616U e, el (penmadsT Gp, Gursh CETdsmisst WHTem @&, Uew
BeorFmendGH 1y pFHweuBplel LSHa] euflHHeneveuT SheuT?

(A) FurBTWIST (B) semuwmed CHTHOBHBHBIILLL o BILNlenT e
(C) siememn  FUIMBTUISIT (D) epemhis’ & o minlent gme.
Ans — (A) sumpTwesT
Match the following — Establishment of state and choose the correct one :
State

(@) 36th Amendment 1. Goa
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(b) 13™ Amendment 2. Manipur and Tripura
(c) 27" Amendment 3. Sikkim
(d) 56™ Amendment 4. Nagaland
@ ® @© @
(A) 3 4 2 1
B 1 3 4 2
C) 2 3 1 4
D) 1 2 3 4
Ans - (A) 3 4 2 1

LsiTeuHeaueaNBI6T OTHl6VRIGET DeIOLILG GBHH Fhwreaiensd BHiTa| GFUIS.

LOMBl6VMRIGH 6T
(a) 366uz1 ETAHSSLD 1. Gammeur
(b) 13ua FrHBSHSID 2. wesdliigit p Hfygm
(C) 27sug1 FTHHSBHID 3. Asdb
(d) 566ug) e mH B 4. BIBTEOMHS)
@ ® @© @
(A) 3 4 2 1
B) 1 3 4 2
© 2 3 1 4
D) 1 2 3 4
Ans - (A) 3 4 2 1

Which of the following are major features of the constitutions of Lokpal and Lokayukta and
recommended by the Administrative Reforms commission?

1. They should be demonstrably independent and impartial

2. They should compare with the highest judicial functionary in the country

3. They should be directly accountable to parliament

4. Their appointment should as far as possible be non-political

(A)land4 (B)1,2and 4

(©)1,2,3and 4 (D) None of the above (or) 1, 2and 3
And-(B)1,2and 4
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Biteurs FTHmHH penemiibHms0 LiflbeHieny CFuIwii’ L Sienolisenrer GeomébLmesd MBI
Gourds U BHTelel (LoHH6T ST WBBID oHEHeT aNPLILTETT) (PSSl LISTTLE6IT
SIDHHEMIL_GUBMIET 61FHI 6160 FnBeLD?

1. seieFmFunsad uTFUl FoBB (Wenpuied GFwsLLIGHEL
2. BILIged o FFHHIOSIBHIHE CFLsOLITHHEDHL 6T @UITL LI 60
3. uTITEBLETBSABEG UHeveMbHd FniguIaITHslT

4. oaTHens BHueid s FTpTEars Rmbs CouewiBLD.

(A) 1 o0 Go 4 (B) 1, 2 wor G 4
(C)1,2,3wr @ 4 (D) Gupasei sigioisoamesy (1) 1, 2 ol G0 3
Ans - (B) 1, 2 i G 4

98.

99. Consider the following pairs :

I. thallophyte - Algae and Fungi
Il. Tracheophyta - All vascular plants
I11. Bryophyta - Liver worts and Fungi

IV. Pteridophyta - Mosses and Mushrooms

Which of the pair given above is/are correct?

(A) T and IV (B) Iand Il
(©) land IV (D) Il and 11
Ans - (B) land Il

LeiieID SenemiHenen HHHH 60 OHM6TE :

l. SHTGenmenL’ LT - SEVHTHSH6 OBBID L, 6henEha6IT

1. 19 & GuITEnLIL_LIT - QUTOVGEOMT HFHHBET 2 DL Ul DMNHH HTOJHIH6I
1I. WenyGuimemui_Lm - 60euT@eUTL 610 LOBMID L 6HemEhH6IT

(\VA GLAGLmemLI_ LT - LDTETOGH6IT (OBEWID  HTENMTEISHENT

Cuop@Binil L Henemiseflsy e1g &fl?
(A) 1 opmgio 1V (B) I wmuun 11
©) I vpgo 1V (D) Il wommio I
Ans - (B) | wimio 1

100.  Which of the following statements about ‘Glycolysis is/are True?
I. Glycolysis is also known as Pentose phosphate pathyway
I1. The substrate of Glycolysis is Glucose

I11. The final product of Glycolysis is Glycogen
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101.

102.

IV. Glycolysis is also known as Glyoxylate cycle

(A) Iand 11 (B) llonly
(©) land 1V (D) IV and 11
Ans— (B) Il on ly

‘BemendBaTeldlory’ LBPu SpboHemi Fapuiseisy sigi/eenern &M?

l. HewensBarelderd mopelenenr CQUsTCLTeL LTerUL aPlILTENg 6T6u6) (D
SI6DLOLILITITE6IT

1. HewensBareldenilei Hemll GUITHeT & EhdHEHmerd

I1. HewensBareldlerd Mapelst (el QUITmeT SlenendsBaTegsst

V. HemendbCaTeldlerd Malpalens @EememuTderBeol. HIpBE eTaIa|lD SIEMPLILITTEHEIT
(A) I wopgno 11 (B) I wor_@io
(©) N oBpId 1V (D) IV g 11

Ans - (B) Il ol Bid

Arrange the following common units of classification in ascending order :
I. Family

I1. Order

I11. Species

IV. Variety

V. Genus

(A) 11,1, 11,1V, V (B)V, IV, I, 11, |

©) 11, V, IV, I, | (D) IV, 11, V, 1, I

Ans- (D) IV, 111, V, I, 1l

LelTaU(BLD  suenSLILITL g6l LTSI Diev&GHEHemen gml auflensulsd 611pHIsH.
(AL 1 1LV, V B) V, IV, 11, 11, 1
©) NV, IV L D) IV, 0L, v, 1, 1
Ans- (D) IV, 11, V, I, 1

If the time taken by the cup of tea to cool from 85°C to 75°C is 1 minute, then the time taken by it
to cool from 65°C to 55°C is

(A) 50 seconds (B) exactly * minute

(C) more than 1 minute (D) 30 Seconds

Ans - (C) more than 1 minute
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@m Gamismu Gxpr 85°C  Galupemeoulsdmbs 75°C -b@d @GefTeusnrur 1 Pidlid
&HOaflsy, ik 65°C -ulelmba 55°C -b@d @GofllTaienlul HJGID HT60 SisN6)

(A) 50 aflenmgssir (B) sfuns 1 HiALD
(C) 1 PULSABGL HHsid (D) 30 aflnmgssit
Ans — (C) 1 P8 B&1D ideid

103.  The rest mass of a photon is
(A) Zero (B) infinity
(C) dependent on its wavelength (D) dependent on its velocity
Ans - (A) Zero

CGurl el guie] Mlewmulmengi.

(A) &1 (B) Afilsveor e
(C) o1m601 SimeLBeNHMS FTHIHHGLD (D) oime1 HanaCoaishmad FTHIHHEGD
Ans — (A) &1

104.  Which of the following sets have different dimensions?
(A) Pressure, Young’s modulus, Strees
(B) Emf, potential difference, Electric potential
(C) Heat, Work done, Energy
(D) Diple moment, Electric flux, Electric field
Ans - (D) Diple moment, Electric flux, Electric field
Wsireumeuseuiplen GeusuGoum LifiomemimissT Qsmemi @& 61gl?
(A) SIWHSID, WEIGMISBID, HMSH6]

(B) Weiiewise olend, Weienpshs Coumn®, OeerpdhsHid
(C) Geutiid, Geusmev, SYBMEL
(D) @mpsnenr Smiiys smeir, WeLeor LIMWILD, LHl6isuld

Ans — (D) @mupsnen SmliLs Hmer, Oeieoll LTWID, LOGHL6VLD
105. New elements and rare — earths are discovered and fixed in the periodic table using
(A) Bragg’s law (B) Moseley’s Law
(C) Compton’s effect (D) Bravais lattices
Ans - (B) Moseley’s Law

Usisd sefionisst wBpb oiflw yeld sellomsst seopluluab, Sefio euflog
S Lauemeniuied QUTHSHSULL QYD LILITLIGEUSI.
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(A) grdesr ellg (B) Guorgeiuien efg)
(C) smbliLss elenerey (D) Wyremeuerd  iemilésBepmemen
Ans - (B) Guorgeduler eilg)
106.  Where is the head quarter of the Forest Survey of India (FSI) located?
(A) New Delhi (B) Dehradun
(C) Chennai (D) Mumbai
Ans - (B) Dehradun
BbHUI eI HWIBBEL B HMEVMIDUIBID 6THIG DIEMLDHHIGT6NG]?
(A) Bluy 6ol (B) GLym®@edr
(C) Gasemen (D) apibemui
Ans - (B) GLgr®eir
107.  Which among these sanctuaries is not present in Tamil Nadu?
(A) Anaimalai (B) Point Calimer
(C) Mundanthurai (D) Periyar
Ans - (D) Periyar
QeUBEIET 61HFH FTeRITELUID HLODBHIL 1960 ER606M60?
(A) 2uemeoansD (B) umufen’ smedioir
(C) (wewrLpaienm (D) Quifiwimir
Ans — (D) Guflwimir
108. If a colour blin woman marries a normal visioned man, they will prouduce
(A) Normal visioned sons and daughters
(B) Colour Blind sons and normal visioned daughters
(C) Normal sons and colour blind daughters
(D) Colour blind sons and daugters
Ans - (B) Colour Blind sons and normal visioned daughters

PBEGHLG CussTeniBE&GD, @ulsoLme LITTenel OaTemi_ pefiBEID SHHITID BL [HSHT6L,
QeuTae CUBOBHSHELD

(A) &6IB6IT OBBILD DH6THEET SUIGOLITET LITTena 9 _6DL LIGNTEHEI

(B) wasiismein HméH@GHLBHSHMD 2 _DLIOITE6T OBIDID DS&6ITH6T SUIsOUTeT LTTene
2 6L W6UTE6T
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(C) washiser @uisouimen LTTeNel ©_enL_UIGNTH6T IDBEUID 10H6TE6T BBH G HL[BHEHSH6enLD
2 6L WI6UTE6IT

(D) s6iidsit 1OBHID 10H6TTE6T BBHGHMHBH HETHID 2 DL WISITHEI

AnNS - B) waaiss HnsEmIGHEHHnD 2L WeTH6T OBEBID 1DH6TE6NT GUICOLITET LITTane
2 6ML WI6NTEHEIT

109.  Cretinism, myxedema and goiter are related to the disorders of the
(A) Parathyroid gland (B) Thyroid gland
(C) Adrenal gland (D) Pituitary gland
Ans — (B) Thyroid gland

Mg &b, WHCFTeNQLOT OBHBID (LT HIPHSHIBLPMV Ul CHTenmTBISHT EHEMIL 63T

OHTLTYemL W]
(A) Bupmewaymui® &y (B) ngymui® syl
(C) o foed ayrnd (D) g e apind

Ans - (B) engymui® &yl

110.  Which one of the following is NOT correctly matched?

(A) Anopheles Stephensi - Leishmaniasis
(B) Glaossina Palpalis - Sleeping sickness
(C) Culex Pipiens - Filariasis

(D) Aedes Aegypti - Dengue fever
Ans - (A) Anopheles Stephensi - Leishmaniasis

SIPSHHEMTL_IBBIST HoUBTH CUTHSHBLILI (HeTTendl 61817

(A) o1Beurm." . T68610 601 GILIGTE - 6Ser0Buarflimalerd

(B) @enmdlafur  LimeoLImederd - 92 m&s GBIl

(C) suyevdberd emUILwiGiTerD - wmenenrsmed G pul

(D) gLe> medilienL - QLBIG STUIFSF60
Ans — (A) oi6em." 1960610 61010 GLI6HTE - 6Ser0Buenfluimelerd

111.  The list of coded instruction in computer is called
(A) Program (B) Algorithm
(C) Flowchart (D) Application software
Ans - (A) Program
HeonGUTulsd <y ememrgeflei CHTELIIL
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112.

(A) plyed

(C) Ggwsd auflii_tb

Ans — (A) Blysd

Choose the correct match :
List |

(P) Fault

(Q) Fold

(R) Earthquake

(S) Volcano

(A) P1 Q2 R5
(B P5 Q6 R-1
(C) P2 Q3 R4
(D) P4 Q3 41
Ans-(C)P-2 Q-3 R-4

(B) Ompipsmm

(D) uwiesuim’ G GuoesrGQITBeiT

List 11
- Stromboli
- San-Andreas
3. Himalyan Range
4. Epicentre
5. Weathering
6. Exfloiation
S-6
S-2
S-1
S-6
S-1

gflwres QUGB weuBemB CHTHOHHHS :

L iguisd |
(P) ey
(Q) gty
(R) usioigirey

(S) erfiemev

(A) P1 Q2 R5
B P5 Q6 R-1
(C P2 Q3 R4
(D) P4 Q3 41
Ans-(C)P-2 Q-3 R-4

uguisv 1
1. evopmbBuired
2. GG  SH60TL 610
3. @uIoensvd OFHTLT
4. o6y eMLOWILD
5. aunalensud FendHe
6. QuTenB HHBID
S-6
S-2
S-1
S-6
S-1
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113.

114.

115.

116.

The major temperature fluctuations in surface waters of the tropical Eastern Pacific Ocean is
called as

(A) Temperature inversion (B) Convection

(C) Thermocline (D) ElI Nino and La Nina

Ans - (D) El Nino and La Nina

ST eWHIL 60 Hpdh@& Ufld Fupdhalr GuoBurliied gmuBD Geulill eBBHSHTIDEHETTISI
RIUTH WIS BLILIBGHMBSHI.

(A) Geulil HeD6O&SLD OTHBBLD (B) Geuting  Fevenid
(C) GmirBordenerss (D) s160 H\Geurm oBEID 60T EleonT

Ans — (D) et6b BIGem oBmID 60T [Hlevrm

The portion of incident radiation reflected back to space from the planet is called
(A) Atmospheric windows (B) Albedo
(C) Rayleigh scatterin (D) Law of scattering

Ans- (B) Albedo

G&iw sFirelFfer @m UG rdusfinier dpsud elemOaiemad FHdULT E@IILNILIGIS]
QeuITBI DEMIPHBLILIGESBSE.

(A) susliosmi_s0 FeiTane0am6IT (B) su60QuUGLT

(C) gmBsv g@el& HBmed (D) gefls Hamed 6

Ans — (B) au60GLIGLT

A Major diamond mining centre in Belgium is

(A) Aalberg (B) Aberdeen (C) Aabenraa (D) Antwerp
Ans - (D) Antwerp

QusL WSSO 2 6iT6em Q@ LITHTEN MO FSFHTRIBLD

(A) @ue06LITs (B) =1GLimigedr (C) eyQusdiym (D) ouem Qe .l
Ans — (D) sy e GQeuir.".L1

Rank the given soils of India in descending order in terms of thier area/extent

(A) Red soil, Alluvial soil, Laterite soil, Black soil

(B) Alluvial soil, Red soil, Laterite soil, Black soil

(C) Red sail, Black soil, Alluvial soil, Laterite soil

(D) Alluvial soil, Red soil, Black soil, Laterite soil

Ans — (D) Alluvial soil, Red soil, Black soil, Laterite soil
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117.

118.

119.

CaTHHBILL(BeiTen @bl D6l lendHemeT  LIFLiLisnalen SiglitienL_ulsd @mmig
alflenF LB HSHIS.

(A) Qisst, euewi_60 06w, Gevl Lewyl 106w, &HMFeL LDENT
(B) euemii_sv 1oawr, QFibioes, Gevl Lemyl 06w, &HMFeL OGN
(C) Qewwest, &MFsd 16w, GUHIL 60 O6WT, G6OL L 6WIL  LOGUI
(D) euemii_sv 1oawr, QFibLo6wT, &MFe0 06w, 60 L6nIL  LD6HT

Ans — (D) euemi_sv 16w, QFbioswt, SflFsd 1oewr, Gevl Lenyr  Loewr

The planet which is known as the ‘God of War’

(A) Mercury (B) Venus (C) Mars (D) Jupiter

Ans - (C) Mars

‘Bunit sLe6IT  GTHIMENIDSHLILIGLD BHmeiT

(A) ymsi (B) Geusiterfl (C) Qeusurul (D) ewimipesr

Ans - (C) Qzsueumu

The ice-crystal theory to explain precipitation was propounded by

(A) Tor Bergeron (B) E.G.Boven (C) Richl (D) Davis

Ans — (A) Tor Bergeron

wenlp eipFdenwl alleufldbs Usiligs GHTL LT 6N 2 (HoITHIWISIT

(A) Lt Guirgdlyesr (B) &.29.6unGeued (C) NFQF6v (D) GLalerd
Ans — (A) Lt Quiredyesr

Consider the following about scientific dating of the pre-historic period : Choose the correct code.

I. The technique of radio-carbon dating is based on measuring the loss of carbon in organic
materials over a period of time.

1. Another dating method is known as dendrop-chronology.
I11. Palaeo Botany is the anlysis of prehistoric plants.

IV. Palaeography is the study of ancient writing

(A) I, 1l and 111 only |) 1, Il and IV
(C) Il and 1 only (D) llland 1V only
Ans—(A) I, Il and I11 only

QUTEOTBHIGE (PHMBHUW BTSN DBeluisd glilenL_uled HTevHMmSB HewhE [Haud)e0
eI FnBenp Seisl : Fllwimer gnBenp CHTHOHB :

1. QG GUUUILL &Tudsdn@ Wsr o ulrerm urGLselsd 6hsd eneysd Sflwib
GMDBHBIGTENSHI.  610ILNS  DQLILIHLWITHS CETewIB  HTe0HmSH HewidbsHBL  (Penméw
CrigBuim-miTLIeT  (LPEmMBUITELD.

44 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

LBOBTMH (1P L6 Gym SmrevdbameniliiL (Wwews sTarlILbBaE DS
Opme0 HTauraiuled GIHTEL HTAI QIMBHMET Ule)| CFUIaIFHI.

V. CHTeLOBVIDHSHI (LPOB  LIDHIBTEY 61(10HBHIGHMEN QUTHHEGID (LPeHBUITELD.
(A) 1, 1 osgno  HI o Go B) I, I I wppo 1V
(C) I ommio I w1 @Gio (D) N wimd 1V 1w EGo

Ans — (A) 1, 11 wigio 11 e G

120.  Which among the following correctly matched?
(A) Kol - Madhya Pradesh
(B) Chhutia - Nilgiris (Tamil Nadu)
(C) Kotas - Little Andaman
(D) Jarawas - Assam
Ans - (A) Kol - Madhya Pradesh
SpsHemILauBmie o1& Fllwms QuTmbSwsiTeng)?
(A) Gamed - wHAHW y6HFID
(B) @l igwm - pevdiferd (HUNDBTE)
(C) GamLmerd - L1960 SIHBHLOT6T
(D) sarymeumerd - S|610EIOMID
Ans — (A) Gamed - wHHW y6HaID
121.  Give the correct chronological order :
L. Pitt’s India Act
1. Minto — Morley Act
I1l. Regulating Act
IV. Montague — Chelmsford Act
(A) 11,1, 11, 1V (B) IV, 11, I, |
©) 1L, 1,11, 1V D) 1, 11, 11, IV
Ans- (C) NI, 1,11, IV
gflwresnr &me0 auflengFenul HHES :
1. 1 @bSHwr FLid
Il. Wet@LT — o6l FL LD
I1. Q(LDMBIG(LPDOBFFLL LD
AVA LoTewTGL &-OF berd@uImT(H  FL L 1D
(A) 11,1, 11, 1V (B) IV, 11, 1, |
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122.

123.

124.

L, L, v O) L, v

Ans- (C) NI, 1,1, 1V

Who was known as the Father of Library movement in Tamil Nadu?

(A) Thiru. T.K. Avinashilingam (B) Thiru. M.P. Periyasamy

(C) Thiru. M.Bhaktavatsalam (D) Thiru. Muthiah Chettiar

Ans — (A) Thiru. T.K. Avinashilingam

SODBTL(H BET6VE SBUISHHBH HhHWd 6160101 DHeWLPSBSLILILL 6T WImT?

(A) . T.K.oiellermdledmbisid (B) H®.M.P.Quilwgm

(C) &m. M ussausHa601D (D) . @pHemswm G guimi

Ans — (A) . T.K.oelamdledhisid

Identify the correct order of events of Muhammad-bin-Tughlug.

(A) Transfer of capital, conquest of Nagarkot, Reform of Token currency, Texation of the Doab
(B) Reform of Token currency, Transfer of capital, Taxation of the Doab, conquest of Nagarkot
(C) Taxation of the Doab, Transfer of capital, Reform of Token currency, conquest of Nagarkot

(D) Conguest of Nagarkot, Reform of Token currency, Taxation of the Doab, Transfer of the
capital

Ans - (C) Taxation of the Doab, Transfer of capital, Reform of Token currency, conquest of
Nagarkot

Leiralmeuseumsled (&g L6l HTH6NdH HT60 HBDFFHmen SHrev auflenaFuled SienLuwImerid
SHITEH15.

(A) BemevbsT TBHBD, HISETEHT. UL GWIBLIL, SienLwimen Brewil FTHmSHSD, CHT Dl
a1 eufleNgin

(B) siemwimen prewiul FTH MBS, HmevbST orBBD, CHT i1 6% eufleldiiy, BTHTEHT
LewL QiR

(C) Bar i 151 auflel &Iy, HMEVBBT LOTBHBLD, DHLWITET BIewiL FTHHHBHD, HTHTOBM
LemL Qi

(D) pram@sm usnt QuiBLiy, Senlwimen Brewiul FTHmeHSD, CHT w1 1651 euflelHii,
HEMEVBSIT  LOTHBMBLD.

Ans — (C) Bar syt 1851 auflel @I, HemeBET LOTHBHBID, DL ITEN HTewil STa\HSHSHID,
BIHTCHM  LenL QUi

Consider the following relating to Babur.
I. The Autobiography of Babur is ‘Babur Namah’

Il. It was originally written in Persian
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(A) Only I is true (B) Only Il is true

(C) Both 1 and Il are true (D) Both I and Il are false
Ans - (A) Only I is true

UTUGBEEG OFTLTUmLW &6l QEBTHEsILL [B6Tenend HHSHIH.

1. urufer swaflewg ‘UTUT BTOT DYELD.
. SiFHeledr pev HI6L LMIFS GomPullsd o sieng.

(A) I oG8 gflwir@d (B) o 38 gflwin@io
©) Ll P Gpewwipo FRwTEGLD D) I, Il 181 BB HUBTEGLD
Ans - (A) 1 o BB gilwmgLb

125. In which Indian state the women, except Brahmin and Bania community, terminate their marriage
relationship through the custom called “Chudi Pahanana”

(A) Andhra Pradesh (B) Chattisgarh
(C) Jharghand (D) Uttarachal
Ans - (B) Chattisgarh

@bHwmellsd slbPH LOTHIEVHSH60 LIFTLO6wIT LoBMID Lsllwm Cuessidsnend SHaly, LB GUewissit
“Glg LUmTeeT” (LPeNBLILIQSH HHIHET HHoew 2 memed (IPMlHdHIe ClHTeiTalsmenT?

(A) 2up8r 1IpCsaID (B) &1 1e6r0smiT
(C) egniteseun” (D) 2_ssmeEhasv
Ans — (B) &L 1esroem

126.  Which of the following statements about Mother Teresa is/are True?
I. She founded a new congregation named Missionaries of Charity
I1. She did not accept the citizenship of India
I11. She was awarded the Nobel peace prize
IV. In 1992 A.D. She came to Madras as a Missionary
(A) and I correct (B) ll and IV correct
(C) I and IV correct (D) I, I and IV correct
Ans — (A) | and Il correct
ST OHCrar OHTLTUTE HpHeWIL FnBmibeilsyd Ffluimerenel erenel?

1. slaur WAenferd o1 Ffllly 6160B FenUMW HiouSHE 6Tt

Il. ST @bHw Guuflawsnw gBpis CaTsisrelsienev.

1I. SIMIOHHBHTE Glouflenioenul gimIs GETeTaTalsLm6V.

V. &H.0. 1929-0 eI OFeiieneid@ Flowl UFLILTOTITES 6UbHSIT.
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127.

128.

129.

(A) 1 opmip N gflwreng) (B) l opmio 1V sfwimerg,

(C) I openp 1V gflwnens) (D) 1, N wpgip 1V sflwrerns

Ans — (A) | vipio T sflwreng

The Dravidian Mahajana Sabha was founded by

(A) Pundit lyothee Those (B) C.s. Srinivasa Raghava lyangar

(C) P.Theagaraya Chetty (D) C.Natesa Mudaliar

Ans — (A) Pundit lyothee Those

Hrmall osTMe FmLenwd BHTBmIeilsHaHealT

(A) 218wrsd HTFT UIYST (B) dl.sterd nfeilours Jreel sQuImHIBTT
(C) M. Hwrsrmu G&1 19 (D) #.68Lg pmeduimit

Ans — (A) S18wThE STET LG BT

In which Indian National Congress session, Mahatma Gandhi was made its President?

(A) Nagpur (B) Gaya (C) Belgaum (D) Kanpur

Ans - (C) Belgaum

61 DhHW CHFAw STRIFTeL LOTHTLIGED LDSTHIOT HIHFH DH6T HEDEVUTTHSUILIL L TT?
(A) BraLyT (B) swir (C) Gusvaid (D) ey,

Ans — (C) Qusbsmid

Match the List | and List Il and choose the correct code given below.

List I List 11
(a) Amrit Bazaar patrika 1. Dadabhai Naoroji
(b) Indian Mirror 2. Sisir Kumar Gosh
(c) Voice of India 3. G.Varma
(d) Advocate 4. N.N.Sen

Codes :
@) (b) (c) (d)

A 2 4 1 3
B) 3 2 4 1
C) 4 3 1 2
(D) 4 2 3 1
Ans — (A) 2 4 1 3
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130.

131.

aflng | 2_Ler auflens |l g QuUTHHS auflenssend@ SIp CBTBHBLILIL (HeiTern
OsTEIedmbal Flwrer el CFHfe] GFuls.

aufleng | auflena 11
(@) oupfs LT LGS MNHEmas 1. gmsmuril QpenGrmes
(b) @bwieir 1y 2. AT G Csrad
(C) auriierd <1 @B 3. G.euiror
(d) o1 6uBsL_ 4. N.N. Ggei
(GIUIN(CES .
@ ® @© @
A 2 4 1 3
(B) 3 2 4 1
Cc 4 3 1 2
(D) 4 2 3 1
Ans — (A) 2 4 1 3

Which Act is called as Black Act by the Indians ?

(A) Vernacular Press Act (B) Indian Arms Act

(C) Rowlatt Act (D) Opium Act

Ans - (C) Rowlatt Act

SULY FULID 6160l SbSHWITHENTEL DUDIPSHSLILIBGISHI 6157

(A) Ygrbdw Gomd &1 Lib (B) @bl suwsh FULID
(C) Gyemeor. &1 L1b (D) ouief & Lib

Ans — (C) Qyemsol. &1 L1b

Identify the statement which is wrong.

(A) The modern method of writing with coma, semicolon, and full stop are the contributions of
the missionaries

(B) Robert De Nobili and Caldwell enriched Tamil language

(C) The missionaries introduced Printing Press

(D) The missionaries spread the Gospel only through English language

Ans - (D) The missionaries spread the Gospel only through English language

CaETHHSBIILL_B6TT6N ITHBUIBIGMNED SHOUBTE AITHAUISHMS DL WTEMD ST (Hb.
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132.

133.

(A) peferr s11pHE!I (pewBWITe &om, QFIOGHTev6T, (PHBIILIL6TeN 6leiiLiene  LOageTaere
HETOBTNL. G LD.

(B) gru 19 Opmiedujid &mev® Geusvend Hiflewp GUITm cu6eNTHSHeuT

(C) Weaganiae oiFa BuBHATHMS RBSWTENE0 Ll 196

(D) i0egeniaer BHROFUIHmW ymide Gomdulsd Lyliderr

Ans — (D) Weageiflsst BBOFUIFmW ymidso GQomPuled Lrinilest

Consider the following Reason and Assertion and choose the correct answer from the codes given
below:

Reason (R) :  The diet of the early Tamils was not very different from that of modern times.
Ghee played a conspicuous part in the diet of all, it fetched a high price.

Assertion (A) : Ghee was used freely both by vegetarian and non vegetarian Avur
Mulankilar and Purattinai Nannaganar spoken of the use of ghee.

(A) (R) and (A) are correc, (A) is the correct explanation of (R)

(B) (R) and (A) are correct but (A) is not correct assertion of (R)

(C) (R) is true but (A) is wrong

(D) (R) is wrong but (A) is true

Ans — (A) (R) and (A) are correc, (A) is the correct explanation of (R)

&0 CBTHHSUILL(B6iTen HMFenIlD oBBID eledsHmd HMHHHe0 Osmemi®, sflwmsr elsnLenul
eBuiGssialnbs CHTHOSE.

smyewid (R)  : uewienLw HOD 10&EEeMN6 2 _6wmia)il LIPSHID, Helar Hre0Hhamd el
OTBILL L $H606v. OBUI @@ (LHHUI 2 _uaITH DMHH LDSHEHETHLD
LWL SSaT. BHBEH AHW allmed SlmL G5!

alenésd (A) : enFald WHBEHID DIENHFAID 2 WD DIENOIHH! DHBEHID GBU
LWISITLIB ST, UOUT cLPSOMIBSIDTT 1OBMID LB ened  hedtearmaeuuntit  Gipuiuller
uweTur® uBsl Blenpul QFUISHN6T 6T UL|6ITETET.

(A) sryemid wpmid elenéspn oM, &TyaubHar elenssld Flwuns QBTGHSILL B6TeNG.
(B) smyemipid eflensbampld Ml syaimed sMTewisSHen afendad Funs QBTGHSILLeN606m60.
(C) smyemid gfl eflendbsbd Heuml

(D) sryemid seuml eflenéssd ail

Ans — (A) snrewid BEID ellendsupld Ff, sMyewisSHen efendad sfuims
OQ@sTHEHSLILL_[BH6iTeNHI.

Choose the coorect answer from the codes given below :

Assertion (A) : The Indian National Movement reached its crescendo in the non-co-
operation movement in 1920-2. It was in this context that there occurred
a resurgence of working class activity in the years 1920-22. The working
class created its own organization to defend its class rights.
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134.
135.

136.
137.

Reason (R) : Lokamanya Tilak was one of the moving sprits in the formation of AITUC.
AITUC was formed in 1920.

(A) Both (A) and (R) are correct (B) (A) alone is correct

(C) (R) alone is correct (D) (A) is partly correct (R) wrong

Ans - (A) Both (A) and (R) are correct
spsei GEUWIGHeNed®mbs Fhwrer alenLsnul CHTHOSHM.

ampm (A) I @b &SHAFU CuIITL LD Lgluguimer elsnT&d cpsold 1920-22
RHEHIMIPWITEND QUISHID UD] DL HHEH. RHBHMHMHH 60 HT60T
o _LPMEGD GUTHHHHIT CUTTL L S0 H6vbHHI QBTemTL eorT. EY6uTH6IT
BB 2 MNDDSHETH Q[ DNIDLENL 2 ([HeTHE 6uT.

amyewip (R) 11920 oip el DiemeISA BB CHTLHEOTENT dnl L ewioLiL]
2 HAUTHSUULL HI. GS6iausnollsnll 2 HeUTdHsd 2 hHIGHTeoTs G HbHeUT
Gevrslomeiiul  FHlevsHiT

(A) (A) wppio (R) gf (B) (A) @ &
(©) (R) w B> &M (D) (A) ugd wi e # (R) seum
Ans - (A) (A) wigip (R) gf

In the series

64122874215386217143286

How many pairs of alternate numbers have a difference of 2?
(A)2 (B) 4 (C)6 (D)8
Ans - (A) 2

64122874215386217143286

o6l OHTLM60 eeiimIel (b GeiimI 6T6mIb6NTE sidHemen Cmgsefsi elbHHwTFD 2 slend
SHITEW15.

(A) 2 (B)4 (€6 (D)8
Ans - (A) 2

In a geometric series, if the fourth term is 2/3 and seventh term is 16/81, then what is the first
term of the series?

(A) 2/3 (B) 4/9 (C) 8/27 (D) 9/4
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138.

139.

140.

141.

Ans - (D) 9/4

QM UBEGS OsTLT aiflnFulls HraETaIgs @ My 2/3 WBBID DG GTels o Bl
16/81 erafled Sibsp auflenaulen (pHed o miln ere?

(A) 2/3 (B) 4/9 (C) 8/27 (D) 9/4

Ans - (D) 9/4

Find the percentage increases in the area of a triangle if its each side is doubled.
(A) 100% (B) 200% (C) 300% (D) 400%

Ans - (C) 300%

QM (PHCHTEMHH @eUGOITMH LHSHIPD RH OLRISTE HHBMAHBIULLT60, b
WP&HCHTMHA6H LITLILIETS)]| 6T1HHMEN FHMNBID DNF) B3 HbEH1D?

(A) 100% (B) 200% (C) 300% (D) 400%
Ans - (C) 300%

The sequence follow a regular pattern. Find the correct letter for question mark, to complete the
sequence

CEIKOQ?
(A)R (B)S T (D)yu
Ans - (D) U

&0 o eiten auflews e (enpwrer wrFHflewwF FritphHal. Coeialbdn UL GL Hal6v,
gllwren e1pHmBSH CETeWIB Henmey OCFUis.

CEIKOQ?

(B)R (B)S T (D)u

Ans - (D) U

Find Least Common Multiple of 4/5, 3/10 and 7/15.

(A) 84/5 (B) 5/84 (C) 2/15 (D) 12/15

Ans - (A) 84/5

4/5, 3/10 wmmio 7/15 sydweumsnfen 155w QLTSI DL BIGNE  SHT6wT.

(A) 84/5 (B) 5/84 (C) 2/15 (D) 12/15

Ans - (A) 84/5

Three numbers are in the ratio 1 : 2 : 3. Their highest common factor is 12. Find the numbers
(A) 12, 24, 36 (B) 24, 48, 72 (C) 12, 24, 48 (D) 48, 60, 72

Ans - (A) 12, 24, 36
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142.

143.

144,

145.

ApeIm elewise 1:2:3 e1ehim eldHHHe0 2 eienen. Sieummledn WSUGLH Gung smyewd (H.C.F) 12
GT6N60 Db 6TEmIH6IT  WITemed?

(A) 12, 24, 36 (B) 24, 48, 72 (C) 12, 24, 48 (D) 48, 60, 72
Ans - (A) 12, 24, 36

If the two numbers are in the ratio of 2 : 3 and the product of their highest common factor and
least common multiple is 150, then find the sum of the numbers.

(A) 5 (B) 10 (C) 20 (D) 25
Ans - (D) 25

BQrewi® eTevIHeMeN BB 2:3 SieGeusmdemen BUICOLH GUTEH STyent LBHMID WFHAB G
OLBIEG pHweBplel QUmEBG:S CHTemd 150 ealsd, DbkH @ erewisemen gl BdH CHTens
wirg!?

(A)5 (B) 10 (©) 20 (D) 25
Ans - (D) 25

Alex invested an amount of Rs. 8,000 in a fixed deposit scheme for 2 years at compound interest
rate 5% per annum. How much amount will Alex get on maturity of the fixed deposit ?

(A) Rs.8,600 (B) Rs.8,620 (C) Rs. 8,820 (D) Rs. 8,840
Ans - (C) Rs. 8,820

ATHHEG 5% 6IGB Fnl (B el lguled, 2 YHIBHEHHEH DN060He0 6eT6iLIeNT h.8,000-23 BIHSHT
mallll] FHLLHH0 (WPpHeSH OFISSIBTT. DbDH (WPHBH (LPEHTe DmLUW|D QLTSI HH660H6M
QuupIb O Tensd WrgH?

(A) 5.8,600 (B) .8,620 (C) m. 8,820 (D) . 8,840
Ans - (C) . 8,820

The difference between the compound interest and simple interest on a certain sum at 8% per
annum for 2 years is Rs. 240. Find the sum.

(A) Rs. 35,000 (B) Rs.35,700 (C) Rs.37,500 (D) Rs.40,000
Ans - (C) Rs.37,500

Byeni(h UBHEHHG, HIBHG 8% au'ly eiHHHe0, @m CHTmHUlE Fnl B Il lg LOBHBID
Hlall 19HEHHEG Qenl_Bui 2 6o elSHHWTFID 0H.240 elafled DibH OFHTenHUNGT OS] 6T6oT6n?

(A) . 35,000 (B) @5.35,700 (C) .37,500 (D) 540,000
Ans - (C) @.37,500

If the rate of simple interest is 12% per annum, then find the amount that would get interest of Rs.
6,000 per annum.

(A) Rs. 82,000 (B) Rs.50,000 (C) Rs.72,000 (D) Rs.45,000
Ans - (B) Rs.50,000

53 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

146.

147.

148.

AIBEG 12% Hefl aul g 6ihbalsd 05.6,000-23 @ITewih ol guITd CHTHEHEGID CHTMHMUIS
SHITEWI5.

(A) . 82,000 (B) t.50,000 (C) .72,000 (D) t5.45,000
Ans - (B) t.50,000

Three solid metal cubes, whose edges are 6¢cm, 8cm and 10cm are melted and a new cube is
made. Find the length of edge of the new cube.

(A) 12cm (B) 24cm (C) 20cm (D) 48cm
Ans - (A) 12cm

6. QF.18, 8 QF.16, 10 GF.I5 USHLP6TEN APHIB 2 BeVHHHTELTE HI6WID HETFHIJHIB6I
® HBSUULG @@ UHW SFHID CFULIUGEBEH a1aflsd LBl HnFHITHae Lo 6
H6ND  WITgh?

(A) 12 Gg.18 (B) 24 Q.8 (C) 20 Qs.B (D) 48 Gs.15
Ans - (A) 12 Q.18

Find the number in the place of question mark :

21, 25, 34,50, ?, 111, 160

(A) 86 (B) 72 (C) 75 (D) 59

Ans - (C) 75

Cmsitallds @MIUILL B HH6L QUHLD 6TemTenemId SHT6uH

21, 25, 34, 50, ?, 111, 160

(A) 86 (B) 72 (©)75 (D) 59

Ans - (C) 75

A can do a work in 10 days and B can do the same work in 15 days. They earn Rs. 1,500 together.
How will they share this amount ?

(A) Rs. 850 and Rs. 650 (B) Rs. 900 and Rs. 600
(C) Rs. 950 and Rs. 550 (D) Rs. 1,000 and Rs. 500
Ans - (B) Rs. 900 and Rs. 600

Aqm Couemevenws 10 BT s6feid, B oieng 15 mriseflled OFuigl (pgliur. @meumo
Cabgl Si6UCaimevemUIF GFUIHI (H.1,500-83 FLIQeITED, DHOHTmHMUI eTeiauTml LNfldHaiH
Qsmeiteuit?

(A) . 850 wimid . 650 (B) em. 900 wmmid ¢m. 600
(C) em. 950 wimnp m. 550 (D) ep. 1,000 wimip . 500
Ans - (B) ep. 900 woipp Rs. 600
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149.

150.

151.

152.

If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do the same
work in 2 days, then what is the time taken by 15 men and 20 boys to complete the same type of
work ?

(A) 4 days (B) 5 days (C) 6days (D) 7 days
Ans - (A) 4 days

6 SewiEHeil, 8 FpiauTaeT Qenewibdl @ Coumevenwd GFuIw, 10 BT &6 CHemeulILIBLD,
BBID 26 yeiidben, 48 HApiauTssT Sewenibdl 6k Gausmevenul 2 BT Heiflsd GFulauT slelsv,
15 oyemimei, 20 HApiautset CaFThxk 6% CoumevenwdF QFUILI 6THHEMENT [HITL H6IT
Capsmauliib?

(A) 4 Brr_seit (B) 5 a6 (C) 6 B _seir (D) 7 Br_seit
Ans - (A) 4 pr_ssit

A plot of land is in the form of a quadrilateral where one of its diagonals is 100m long. If two
vertices on either side of this diagonals are 50m away from the diagonal. Find the area of the plot
of land

(A) 5000 m? (B) 1000 m? (C) 10000 m? (D) 500 m?
Ans - (A) 5000 m?

@ 6L (h LoeneNWITENG BTBE]T 6Ugaled 2 6iTeNgHl. DUHM @ cpensv el L HFHledt Hemd 100 LS.
pemeValll L HEHl6 sIHOITHT LISBHISHT60 2 6116 (LPseHeT QTemiBLD cpsmev el L &HH 60 hbSHI
50 5 QaTensveiled SULNedr, Lsweotuledr LTI Wmg?

(A) 5000 152 (B) 1000 152 (C) 10000 152 (D) 500 15
Ans - (A) 5000 15

If “NOIDA” is written as 39658, how will “INDIA” be written ?

(A) 36568 (B) 63568 (C) 63569 (D) 65368

Ans - (B) 63568

“NOIDA” etetiigyl 39658 stenr s1psiiLmsd “INDIA” er6iiLiong sledeumml 6T(p&H60MD?
(A) 36568 (B) 63568 (C) 63569 (D) 65368

Ans - (B) 63568

Read the following statements:

1. Either A and B are of the same age or A is older than B

2. Either C and D are of the same age or D is older than C

3. Bis older than C

Which one of the conclusions can be drawn from the above statements?

(A) Ais older than C (B) D is older than C
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153.

154.

155.

(C) A'is oder than B (D) B and D are of the same age
Ans - (A) Ais older than C
6N FnBmIsemenil Ligdbhd

1. Awd B-ub sFwenwgsent wenTsst ievevdh A yeialm B-mg ofl Quiflweut
2. C-wyio D-uyp sFwanugeml welisen Sieveudl D eyemanm C-3 el GQuifiwet
3. B oemair C-m el GQuiiwet

BGwBev 2 _siten FnBuIEeTe0BHSH HTD HTEWID HTLOTEIND WITSHI?

(A) A yemau C-g3 el Quiflweui (B) D syemmeut C-gg et Guifluwieui
(C) A yemeut B-gg el GQuifluseur (D) B-wib D-uyib Fosuuigsient wieniassit
Ans- (A) A eyeireum C-g3 el Quiflueur

The minute hand of a circular clock is 14cm long and that of hour hand is 7cm. Find how far does
the trip of the minute and hour hand move in 30 minutes?

(A) 88cm, 3.66cm (B) 22cm, 0.915cm
(C) 44cm, 1.83cm (D) 1.83cm, 88cm
Ans - (C) 44cm, 1.83cm

QR HSTIHSH BIOL BB e (WelTdeiflles Hemd (wewmpGuwi 14 GF.15 wBpd 7 G&.6 30
B Misefed B (LpeiT OBBID LoswT (6T 6T61RI6T6)| HITID [HBHLD?

(A) 88 G&.15, 3.66 GF.15 (B) 22 Q#.8, 0.915 Q&1
(C) 44 @s.8, 1.83 Gg.18 (D) 1.83 Q#.8, 88 Q&.18
Ans - (C) 44 G515, 1.83 GF.18

A heap of paddy is in the form of a right circular cone whose diameter is 4.8m and height is 1.8m.
If the heap is to be covered exactly by a canvas to protect it from rain, find the area of the canvas
required.

(A)22.6m?> (B)272m* (C)13.6m* (D)11.3m’
Ans - (A) 22.6 m?

CpiTall L gnibl] elgedsd @eldbasiiu L OpB@elulsis ol LD 4.8 15 wBmid bt o wigd 1.8
15 eT6tid. BHOBBGeIWmey WenpuTlelhhHEH UTHISTHS SHoHHTen Hlewluimed LeFFfluims
AL LILBEBGE sTenled, CHemauwimes SHHHTe Hlewnuledr LITLIeNLIS HT6wT.

(A)22.6 82 (B)27.218%2 (C)13.618% (D) 11.38°
Ans - (A) 22.6 187

If a*=Db, b¥=c, c’=a, then what is the value of xyz ?
(A)3 (B)4 ©)9 (D)1
Ans - (D) 1
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a*=bh, b’=c,c’ =4, aafled Xyz-eir I eredten ?
(A)3 (B)4 €9 (D)1
Ans- (D)1

156.  Arrange the following in the order of increasing solubility in water

(i) NaHCO; (i) KHCO;  (iii) Mg(HCO3), (iv) Ca(HCOy) ,
(A) (iv) < (iii) < (ii) < (i) (B) (i) < (ii) < (iii) < (iv)
(C) (i) < (iii) < (i) < (iv) D) (iii) < (i) < (iv) < (ii)

Ans - (B) (i) < (ii) < (iii) < (iv)

Lereupld BFomisemen SieuBmilel By Semyuid FHmedmeir guieuflenaullsd s1pgi.

(i) NaHCO; (i) KHCO;  (iii) Mg(HCO3), (iv) Ca(HCOy) ,
(A) (iv) < (iii) < (ii) < (i) (B) (i) < (ii) < (iii) < (iv)
(C) (i) < (iii) < (i) < (iv) D) (iii) < (i) < (iv) < (ii)

Ans - (B) (i) < (i) < (iii) < (iv)
157.  Match the following :

Actinide element Atomic number
(@) Plutonium 1.102
(b) Curium 2. 100
(c) Fermium 3. 96
(d) Nobelium 4.94
@ ® @© @
A 1 2 3 4
B) 3 4 1 2
() 3 4 2 1
(D) 4 3 2 1
Ans - (D) 4 3 2 1

Fllwres QUITHSHIS :

BB HEUIOID DI 616000
(@) yemL_GLmeflwibd 1. 102
(b) suyMuib 2. 100
(c) Quimdwib 3. 96
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(d) GpmIediuip 4. 94
@ (b (@© (@

A 1 2 3 4

B) 3 4 1 2

€ 3 4 2 1

(D) 4 3 2 1

Ans - (D) 4 3 2 1

158.
159.  An example of commonly used herbicide is

(A) p,p’ - dichlorodiphenyl trichloro ethane

(B) 2, 4 —dichloro phenoxy acetic acid

(C) Benzene hexa chloride

(D) Naphthalene

Ans — (B) 2, 4 —dichloro phenoxy acetic acid

QurgIITH LWESTUBSHSLILBID Hen6Td0IH 606

(A) p,p° - oL&GemmBrrenL_Llenansd 196n)@&CemTrT mFéGH60

(B) 2, 4 — ewL_@GemmBym Teurmésend o4 19é Siflevd

(C) Quendenr CamasT @&CsnTany®h

(D) mrr." L1568

Ans — (B) 2, 4 — enL@Genm@ym  Lenmdend 1196 Siuflevld
160.  Match the following :

| 1 Il

(1) Thiamine (a) Cheilosis (i) Pellagra

(2) Niacin (b) Polyneuritis (ii) Glossitis

(3) Riboflavin (c) Nicotineamide (iii) Beri beri

(4) Biotin (d) Antipernic (iv) Hyperestheria

(5) Cyanacobalamine (e) Coenzyme R (v) Pernicious anaemia

A O-@-v @-0O)-(i) A-©)-0 @-@W-() ©E)-E)-(v)
B) @O-bO-(i) @-0->0 E-@->) “@)-@E->0v) B)-d-W
€ @O-@-0) @O-@-Wv @-0O)->v) @-(@©)-i) ©)-E)-0
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161.

162.

O @O-@©-@v) @-E@-@) @-W-Wv @-@-0 ©) - 0)- (i)
Ans - (B) (1) - (b) - (iii) @-©-0 E-@->) @#-@E->) ©6)-d-(v)
OUTBESIS -

| I 1

1) Hwidledr (a) £Bsurdlerd (i) Gusdevasym

2 Blweflei (b) ured WA 1gerd (i) QT 19610

(3) MUl e (c) PBsm 19evremIo( (iii) Gufl G

4) FulenGamuTeVLl6i (e) @ewewr GpTE) — R (V) Quitefildwery Ry Garens

A O-@-v @-bB-(i) G-0-=0 ©@-d->) ©)-E)-(>v)

B @O-b)-(i) @)-)-0) E-@-(>) @#-(@E->v) ©)-d-(V)

€ @O-@-@G) @-@-v @-0O)->v) @ - (i) ©)-E) -0

G @O-0©-@v) @-@->0 E--Wv @-@-0 ©—0O)-(i)

Ans - (B) (1) — (b) — (iii) @A-©@-0 E-@->) @-@E->v) ©)-d-(v
The Indian Constitution describes Legislative Relations between Union and states in Article from
(A) Articles 245 to 255 (B) Articles 256 to 263

(B) Articles 264 to 267 (D) Articles 268 to 276

Ans — (A) Articles 245 to 255

b elFlsefelr S @bHU DFFsvsnolil] WHSH U BBID WIHe0 FLL SHHIMBUIT 2 Mm6)|H6iT
Ul GBIUAGEBE?

(A) egssit 245 to 255 (B) elgleseir 256 to 263
(B) efl@dessit 264 to 267 (D) egmsit 268 to 276
Ans — (A) el@assit 245 to 255

Which of the following is/are incorrectly matched? Select your answer using the codes given
below.

I. Credit creation - Reserve Bank of India

Il. Commerical Bank - Accepting deposits

I11. Reserve bank of India - Control of credit

IV. Quantitative Control - Scheduled Banks

(A) 1 Only (B) land Il (©) lland IV (D) land IV
Ans—(A) | Only
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Weireumeusauimled etemer Ffluwimes GQUTGHSHsVmsv? &S6 GETHHESLILL Beiten Gnluibhaems
UWSTLBRSHS o _miseT elenlsnul BHiTh6ldHHHs.

1. BLET 2_(HeUTdHBLD - AbFHwienr MNaFTed eumiad

. QUeNE  GUMIE B6IT - MEULILIBEM6TT  JBMIH CBHM6iTEHH60
Il. BbSHwieir NEFTed eubiad - BL6 B BLLIGEHH60

V. eTevdTemT6N6Y &L (BLILITL (B (LPeMMBaH6I - UL IQUIED  6)MIS BH6IT

(A) I o @G (B) I womenp 11 (©) Il iy 1V (D) I opmio 1V

Ans — (A) | ol B
163.  The phase of rapid growth of population in India falls.
(A) between 1891 — 1921 (B) between 1921 — 1951
(C) between 1951 — 1981 (D) between 1981 - 2001
Ans — (C) between 1951 — 1981
@pgHwmelsy sllengeuten L&D COHTmE 6UeTTEFS GgBULL G SEHTEVH HLLHHEL H@LD.
(A) 1891 — 1921 sysmBasstisd (B) 1921 — 1951 syamiiBamatlsy
(C) 1951 — 1981 sy smipamerien (D) 1981 — 2001 eyemiBessrien
Ans — (C) 1951 — 1981 sysmiBsaflso
164.  In which of the following states of India, Inland water transport is not important?
(A) Kerala (B) West Bengal (C) Bihar (D) Gujarat
Ans — (D) Gujarat

eireIpd SbaHlul IoTHleUmIG6Te0 61hd% THeVSHHe0 2 6THT B Breudil CuTEGaTsHg
(PHHWIDTETHTH 606607

(A) Gayemm (B) GumE eumismeniD (C) Samir (D) &5
Ans — (D) &zarms
165.  Which kind of power accounts for the largest share of power generation in India?
(A) Hydro — electricity (B) Thermal
(C) Nuclear (D) Solar
Ans - (B) Thermal
Sbgwrellsd e1hs et FhHlullen cpsolord SiFHe Slemalled el FobH sIBUSHUITHBSHI?
(A) Bt Betigmyid (B) oiemsd 160
(C) siguiier Fég) (D) g 68
Ans — (B) oiem6v 16t

166.  What is India’s rank in the global production of milk in 2010-2011?
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(A) First (B) Second (C) Third (D) Fourth

Ans — (A) First

2010-11 oyb Semiged 2 sudenmalll LImed 2 _BLSHHuUled Sbaluimellsn HILD eTeiren?

(A) wsedL 1D (B) @yewr_moL b (C) ewerpmL1b (D) mrewismiiLb
Ans — (A) a6 1D

167. Industry which is reserved for public sector in New Economic Policy
(A) Atomic Energy (B) Cotton Industry
(C) Sugar Industry (D) Tea Industry

Ans — (A) Atomic Energy
ysw Qurmentsry Csmsiiensuisy CUTHISSHIMBUTET S 6hdH CHTHI6L Bmieuard @HHH0

Qi Lgy?
(A) Simifish Fé3) (B) upd8lsH Gzmisd
(C) sirmeny GOamifev (D) Bxulemevs Gmmiflsd

Ans — (A) sigifiesi F&Hd)

168.  Arrange the following sectors in India descending order according to the commercial energy
consumption

1. Household sector
2. Agriculture

3. Industries

4. Transport

(A) 4,3,1,2

(B) 3,412

© 3,4,2,1

(D) 4,1,3,2

Ans — (B) 3,412

alewlld FHa HISTol DlgliLenl_ulsd SHpeEETamId BHHUl HimBEemen @mhiE aiflenguisd
alflenF LB SHSHIS.

1. BevevdaIemm
2. Geuenmemienio
3. OsmibaTenev
4, GuriHEauIHa
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169.

170.

171.

(A) 4,3,1,2
(B) 3,4,1,2
© 3,4,2,1
(D) 4,1,32

Ans — (B) 3,4,1,2

“Indradhanush” introduced by the Central Government in August 2015 aims at :

(A) Establishing a separate ombudsman for private sector banks

(B) Reviving or revamping public sector banks

(C) Reviving non-banking financial institution

(D) Introducing new banks in rural India

Ans — (B) Reviving or revamping public sector banks

SAFHe0L 201560 HHUI DFFT60 IBIPSLILGSHSIILL L ‘SbHTHaieny’ Hi L Haer CrTHsid

(A) el sienB aIbdsmen BiTaudbs Hall ML gBLBHHIMNSE.
(B) Qursis sieon aubidsmen GOIDLGSSING Si60e0EI ETenLLILIG]

(C) aamd Fmyr M8 PuleuaTBIBmeT LG FTNLOLILIG]

(D) esips @pgHuimelsd LB aukidsmen S IPSILGS SIS,

Ans — (B) Qursis slenn aubidsamen GbLBSHSING 1606085 ETenLolILIg]

Which country was affected by ‘Typhoon Goni’?

(A) Philippines (B) Japan (C) Srilanka (D) Canada
Ans — (A) Philippines

obd BTG @Goralel Gsmel” wimed UTHSHUILILL FI?

(A) WellienLisiTeD (B) ggiiument

(C) Rovrisems (D) e

Ans — (A) el ienLsierd

Match List I with List Il and select the correct option given below :

List I List 11
(a) Abdul Kalam Award 1. G.Jothimani
(b) Kalpana Chawla Award 2. S.Sampath Kumar
(c) Best Doctor Award 3. P. Simmachandran
(d) Best Social Worker Award 4. N.Valamathi

@ ®® © @
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172.

A 4 2 1 3
(B) 4 3 2 1
C) 4 1 2 3
(D) 4 2 3 1
Ans — (C) 4 1 2 3

ucigwsd |2 e uiguisd Il -ewL @il G gflwrer ellenLsnuwt BHibOHHEH) D

U iguisd | uiguisd 11
(@) onisLBeTD NHS! 1. 8.Gegnaiioem
(b) seouienm Fmeison e (B 2. F.FIUSGLOMT
(c) Ambs wEmsSIGNT NHE 3. ur.fibwabayes
(d) Aphs Faps Greoust eMHs 4. [BT.6U6TITIDE
@ ®® @© @
(A) 4 2 1 3
(B) 4 3 2 1
© 4 1 2 3
(D) 4 2 3 1
Ans — (C) 4 1 2 3

Identify the correct statement from the following

(A) Tiruchirapalli has been declared as the second cleanest city by swachh Bharat in 2015

(B) Tiruchirapalli has been declared as the second cleanes city ny UNESCO in 2015

(C) Goa has been declared as the second cleanes city by Swachh Bharat in 2015

(D) Mysuru has been declared as the first cleanes city by United Nations Organization in 2015
Ans — (A) Tiruchirapalli has been declared as the second cleanest city by swachh Bharat in 2015
SIpSHHEMTL_UBBIeT FAwITe Fampllened SHeuislb.

(A) Swsdrmiiusied bEyHmS BTILTaISH HHBHOTE HEJD olan 2015-60 6r06uF UTTSH
BN HSHI6T6MHI.

(B) mwsdymiiusiiell posysHemns SJenimaldl &HOM BEID o6 2015-60 wjGemeroGasm
BN HHI6T6MHI.

(C) Camour BEIHMS STeWIL_eUTH FHHHOTaN BEBJID elen 2015 60 6r06uF UTTSH
BN HHI6T6MHI.

(D) ewwo@m BETHMS (PSHOTUHI HHBIONM HBJD 6160 2MBEW BTGB Fenl 2015-60
ENDIEEN RN
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173.

174.

175.

Ans — (A) AmpFAyriiusied BEIHmS BTHLToIH HSHOTE BBJD 66 2015-60 e0UF UTTSH
el Sgieeng)

Nobel Prize for medicine in 2015 was awarded to
I. Tu Youyou

1. Satoshi omura

11, William Campbell

IV. Arun Bahl

(A) I only B) I, Il and IV
(C) I and 111 only (D) I, Il and 111

Ans— (D) I, Il and 11
Grmued ufla 2015 WHSSHINGHD ReHBG/BaTsEns:E& BelbaaL Beeng.

l. 6 wuy

1. FLOLTH @upym

I1. allevsllwid GGy
V. SDI[HEWI  LTQUB6D

(A) I oG B) I, H wBpw 1V

(©) N opmio I o @Gio (D) I, 1 wipioll

Ans — (D) I, Il opgio 111

Which country has come forward to help clean India’s River Ganga?

(A) Iran (B) Israel (C) Ireland (D) ltaly
Ans — (B) Israel

SbHumelsn &henS BHMOUI GFHHD QFUIL 6hH BTH (P&l albSHIsTeng?

(A) &grest (B) @atGysd (C) suwireorha! (D) 86569
Ans — (B) &ervGrsd

World ‘Car Free Day’ is observed on

(A) September 12 (B) September 22

(C) October 22 (D) October 18

Ans — (B) September 22

® & ‘ST UWSILBHHTSH BI6T DHeIFflobsliBalsn

(A) Geri_bur 12 (B) Qei_ibuir 22

(C) &i&BLmuir 22 (D) oi166Lmur 18
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Ans — (B) Qeliibuir 22
176.  Which court ruled that ‘Eu-us data Transfer Pact’ is invalid?
(A) American Court, New York (B) British Court, London
(C) European Court, Luzembourg (D) International Court, New York
Ans — (C) European Court, Luzembourg
oGrmiiniw ugelwied - wjemar G ev@LL e (EU-US) elleuy ufionBm riLibssHensd GFeveong
6Teid STLILeMGHSH HAHILDGTMBLD
(A) 216fsEs BeeBID, EuLuwITTd (B) L 1909 BEN06IBID, 606KTL 63T
(C) xmGrminiwr &b, evdbCEFGUITTES (D) RO TBBFaEL BAIDMBID, WHluuiite
Ans — (C) e@yminiwr Baedipid, 60&H6FIDGLITTS
177.  The Leader of the Congress Party in the Lok Sabha as on September 2015
(A) Mallikarjuna Karge (B) Sonia Gandhi
(C) Ghulam Nabi Azad (D) Rahul Gandhi
Ans — (A) Mallikarjuna Karge
@&lLbuir, 201560 Geomdbgumalsy STREIS T S Fullsl HewevelT
(A) evedlsiTeSent HTTCH (B) Gameiwim &g
(C) ®oomd B usTH (D) mmesd srHe)
Ans — (A) wevelsirelem &riTlas
178.  Which state government in India has started the “Ladili Beti” scheme for the girl child?
(A) Madhya Prades (B) Uttarakhand
(C) Jharkhand (D) Jammu & Kashmir
Ans — (D) Jammu & Kashmir

SbsHwirellsn 6L LOTHEL DJdFE CUewl GWHNSHEHT ‘6oml el GULY’ HLLHmS

FHloUnIE U616 ?
(A) wsHwW WFCseD (B) 2_ssitmmeniL
(C) egnitésmemiL (D) mivap & sTagusT

Ans — (D) mibap & smapisit
179.  Consider the following statements about Suraksha Hose :
1. The hose is made of rubber and is green — coloured

2. The outer layer of the hose is fire resistant
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3. The middle layer of the hose is made of brass-coated high carbon steel wire mesh
Which of the above statemen is/are correct?

(A) 1, 2 and 3 are correct (B) Only 2 and 3 are correct

(C) Only 1 and 3 are correct (D) Only 3 is correct

Ans - (B) Only 2 and 3 are correct

“FrHeer GpSIpe] @GTUI” UBBIW SEEEMIL FnBBIEmeT HHHDHED CHT6NS :

1. @s@omil gliugred QiU L&l 1oBEID UFDF BIBLPeHL W

2. @s@wruler Geiell SiBd@& QBELL a1y HmeT CUBBEHI

3. @s@wiuler BE SBEG NHHMeN LLFHID, HITL6T 60lesd HIDLT cuene0 CETawIL Gl
Beubmle eigl/eTeneu FM?

(A) 1, 2 oppp 3 g (B) 2 wpmio 3 wi G6w &

(C) 1 wpmnp 3 wr G6w & (D) 3 101 B6w &M

Ans — (B) 2 wpmio 3 wi G6w &

180.  The Union Urban Development Ministry has selected 98 towns/cities from all over the country to
granduate into smart cities in five years. Select the town/Cities not included in the list from the

following.
(A) Coimbatore (B) Dindugul
(C) Chidambaram (D) Erode

Ans — (C) Chidambaram

wHHW  BHTILYB  CbuT (B  DMWEFFSHD  BITLIYd 98 mEIHSmeT CHTey CFlim |mbH
ST BHEMNE0  SIUBENB  GVLOTTL.  [BHIHSENTS  LOTBRWDES RHSIGTBEHI.  HLDHSHEMIL UBDI6NT
erolomT &g Ul lguiellsy BaTed&lILLTHmS Ffle CFuis.

(A) Gamwibug gt (B) SemiBemed
(C) Asbugid (D) =Gy
Ans — (C) Asibugid

181. The country that has become the first defaulter, among developed nations, on debt of
International Monetory Fund (IMF) on 30" June 2015

(A) China (B) Italy (C) Greece (D) Germany
Ans — (C) Greece

2015, o8eir 30-60 euenTFAwenL b BTHHEHHGHT IMF sLemen GFaubssd SHeauplul (1pHe0 BTH
61&H!?

(A) engenr (B) @s5160 (C) &ferv (D) Gegitiossh
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182.

183.

184.

Ans — (C) &ferd

The last movie for which late M.S. Viswanathan composed music is

(A) Engirundho Vanthan (B) Suvadugal

(C) Devadoss (D) Ninaithalea Inikkum
Ans — (B) Suvadugal

M.S. afleroauprsHer @uiHuims RenFwieniods HenFriLi 1

(A) s BHECHT  cubST6 (B) seu@eser

(C) Bmpougmmerv (D) BlemendbsmBe0 Beufld@ 1o
Ans — (B) siou@aseit

Who was awarded the Stockholm Water prize for the year 2015?
(A) Amalendu Krishna (B) Rajendra Singh
(C) Mansingh Rawat (D) Modadugu Vijay Gupta

Ans — (B) Rajendra Singh

2015 o eyemngmaETen el THGammier BT ufld wWrmesE eupmislu L &?
(A) S100bgI Slmajeam (B) gnGeabgly &

(C) wrend®i greums (D) GuorLthg elmul @Grism
Ans — (B) gr@xpdly &

Google’s Alphabet Website is
(A) Alpgoogle.com (B) Googlealbet.com
(C) abc.com (D) abc.xyz

Ans — (D) abc.xyz

Fn@6iledl  SLeOLIGLL  E)enemTuIgH6NID

(A) Alpgoogle.com (B) Googlealbet.com

(C) abc.com (D) abc.xyz

Ans — (D) abc.xyz

——————————————— organization slapped fine to the companies for not appointing women directors.
(A) BSE (B) BSI (C) SBI (D) BCCI

Ans — (A) BSE

------------ Poeeroresigl, Cust  QuIG@GBTHmen  Huldldstsd  soLlsEndE — SUFTSHID
ONEREY: 101
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186.
called

187.

188.

189.

(A) BSE (B) BSI (C) sBI (D) BCCI
Ans — (A) BSE

Tuyouyou of China has been awarded the Nobel Prize in medicine for developing a new drug

(A) Avermectin (B) Artemisinin
(C) Ilvermectin (D) Parasitin
Ans — (B) Artemisinin

Foor BILeNLE GFTHE SUWW, 6aUAIGSS Db WLEHHDS SOUYSSHSHBSTE  LDHHSHI6NSH
HlenpdaTen GBTUsL Lfla aIphISLILILL ).

(A) S16uTQLoHIg 6T (B) symgiidleuien

(C) meumGinssigest (D) umgmdLigesr

Ans — (B) syngiidlefleir

Article 25 of the Constitution of India guarantees

(A) Right to Religion (B) Right to Property
(C) Right to life (D) Right to equality
Ans — (A) Right to Religion

Bbaw sipflwsvenioliien 25-eugh ellg 2 SHHTeuTsHoefliLig

(A) giow o_Memio (B) Qarsaiflenio

(C) 2_ulm eurqpio 2 _Memio (D) sHs5108 2 Memio
Ans — (A) siow 2_flenio

Which one of the following is not a formally prescribed device available to the members of
Parliament?

(A) Question Hour (B) Zero Hour
(C) Half-an hour discussion (D) Short duration discussion
Ans — (B) Zero Hour

UTImTEpoeTE 2 pInlameendd LlselmalsieBupeT (wWpemp  Fiibdh  SEHILUTs  @6060TH
Blemsowiteds SmUUgl 61517

(A) Gmeital CryID (B) ygyw Gpyid
(C) oimywenil GBy eMeuTsid (D) emiddw &mev efleursid
Ans — (B) ygaw Gpyd

The National Commission to review the working of the Constitution was set-up in the year
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190.

191.

(A) 2001 (B) 2004 (C) 2003 (D) 2002

Ans — (D) 2002

SIrFwevsniolll] QFweOLBID elHHmad UITuW CHFW DeHEID DHSEBIULL D60 B

(A) 2001 (B) 2004 (C) 2003 (D) 2002

Ans — (D) 2002

Match the List :

(a) Fourth Schedule 1. Division of Powers

(b) Seventh schedule 2. Seats allotted in the council of states

(c) Eleventh Schedule 3. Language
4

(d) Eighth Schedule
@ ® (@© (@

. 73" Amendment

A 1 2 3 4

(B) 2 1 4 3

© 2 1 3 4

(D) 1 2 4 3

Ans - (B) 2 1 4 3

sflwretend QUTHSHIS :

(a) BreVTEUSHI DI L 6uemENT 1. SIFsMl UGy

(b) goTaus i Leuenemt 2. (PTHEVBIBNMRIGEH RHIHSB QFLIWLIIN L G BISH6IT

(C) uFBeoTyTEUSHI SIL”_L_6UEMEHT 3. QwmPsei

(d) e Lmeugl i L euenemt 4. T3eugl FULSH HHSHID
@ ® (@© @

(A) 1 2 3 4

(B) 2 1 4 3

© 2 1 3 4

(D) 1 2 4 3

Ans - (B) 2 1 4 3

Which one of the following amendment was called a revision of the constitution and it introduced
changes in preamble, as many as 53 articles and seventh schedule?

(A) 40" amendment (B) 42" amendment
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192.

193.

(C) 41® amendment (D) 43™ amendment
Ans — (B) 42" amendment

Weireumd  Sipflwieveniolil]  SHHHIHhIHeMeD  61bdH @M, SHTFWevsHIOLINe  (WHLILHT, 53
SIrFwevsnioll] elFHH6  OBBID TouFH D Leeneml  HPHUWBIls  FHHHHhIBmen  CFUISHHei
P6VLD, DITFWIEVEHIOLILT6N OBILIFIL] 6TEMBENLOSHSBLILIL L 7

(A) 406uz1 Sipdwieoenioii] HmobHID (B) 426ug1 Sipdlutevsmioii] SHmSHHIo
(C) 41eug siydwievenioin] HmsbHIo (D) 436us1 Sipdflwisvemioli] &m&HSID
Ans — (B) 42611 Sipdflwevenioli] Sm&sIo

Which one of the following statement with regard to the enactment of the Act of 1935 is
WRONG?

(A) Turko-Italian war happened

(B) Rowlatt Act and Jallianwala Bagh Tragedy occurred

(C) Round — Table Conferences held

(D) Lord Curzon Partitioned Bengal

Ans — (D) Lord Curzon Partitioned Bengal

1935-0 Syewi(p @WBBLILLL FU LD QSHTLTLTE SpHHewIL 6lbd Bl smbuissT Haim?

(A) s1p6E - @5HHTe0w CUTT aHLL LS.

(B) Qremeol. & LI wBmID :MmedheT eumeoTUTd: LGESTEN BLbHSHEI.
(C) aul_LBews WIBTGSHET BL [HH6.

(D) aumisnengeng sirgen L5y LINSSTT

Ans — (A) aukisTensHemg siaem Ly LNgSSTT

Which of the following recommendations are made by the Administrative Reforms Commission
to improve relations between the political and permanent executive?

1. Minister should try to develop a climate of fearlessness and fair play among senior officers.

2. Minister should not intervene in day to-day administration except incase of servous
maladministration

3. The official relationship of Secretary to Minister should be one of confidence of that of
Minister to Secretary one of loyalty.

4. Prime Minister should take special interest to arrest/growing of unhealthy personal affiliations.
5. All major decisions should be briefly reduced to writings.

(A)1,2,4and 5 (B)1,2,3and 5 (C)2,3and 4 (D)1,2and5
Ans—(A)1,2,4and5
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194.

195.

Biteurs  FIHBHSHHEGHW Syflwsd LBBId BIrksy FwuBeupelsr SenL Guiujsiten 2 mene
CuuBHH BHHWIL 61hdk Lfboimysemsn GFuignieTeng?

1. oowssisst wpshs siFerfsefent G LwioBs, wBBID  CHTewowITer B 2 M6
QUSTITEUSHMBBT  GplpeW60 JMUL  (LpUIBFHH Ceusmi(BLD

2. pirers F1CsB gHUGB FoWEBTL SMDFFTHET  Hemeouleom@o  Hely, SieTBIL
BITUTHHH0 HeneoullL Fal TFH.

3. Ggweul, SIMWFFTHEHHHMLCuilsomen SlgvieNevd 2 B6) [HIDLHMS BHBID  lF6ITE
Sl uled Smbs CeauemipLd

4, SmDFFTHEHHHMLUTOTERN FAPHOBB 2 melenel HBHH euTHe 65 HBLS Heed
OFsvsHs Ceusmi(BLp.

5. JIMUBEH (PHAW (LPIG6YHMET Fi(HBHIOTS 6TIPSLILIL.  Geusmi(hLd.

(A)1,24and5 (B)1,2,3and5 (©)2,3and 4 (D) 1,2and5
Ans—(A)1,2,4and 5

Which is/are correct relating to the Tribunals?

1. Part XV of the Indian constitution deals with the Tribunals.

2. Article 323 A deals with Administrative tribunals and Article 323 B deals with the tribunbals
for other matters.

(A) Lonly (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Ans - (B) 2 only

STUUTWmRIGeT QHTLTUTS Fhwmerenet  e&i/elenel?

1. @pgslw sirdwevenolier 15-aukh LG STiUTURISeT o6 @a Bl

2. old 323 o Pieurs  STiuTwhisemer  elendGEBSH  woBpp  elgh 323 & 1oBs
SrlumwhisensT GBEILILIGS MBS

(A) 1 o @B (B) 2 or_®d
(C) 1 opund 2 @AW yemiGLd (D) 1-ib oi6060 1OBHID 2-1D Si606V
Ans — (B) 2 1@

Which of the following are matters on which a constitutional amendment is possible only with the
ratification of the legislatures of not less than one-Half of the states?

1. Election of the president

2. Representation of states in Parliament

3. Any of the lists in the 7" Schedule
4.Abolition of the legislative council of a state.

Choose the correct answer from the codes given below:
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Codes :
(A)1,2and3 (B)1,2and 4
(©)1,3and 4 (D) 2, 3and 4

Ans—(A) 1, 2and 3

SITFWeVHIOLILF  FLLSHFHT SDHeWIL  61hdH @l FHmHHD  CoBbsmsien  iemeuuisd
Brewigsd @ URG o millenTsefe suHImel 2 mig COFuis Gsmeitenm GeuswiBLd?

1. epurss SmevelT

2. UTITEHEIBHA6L OMHlevmIseTe LNTHm g sHaieb
3. Teugdl I Leuenemiulelsiien eJHTaIH @ L Iguisd
4. wmplev FU L e Gosvemer @LALIL]

spsewiL suflenguisd sflwmen elenLenwl BGsitey GaFul:

aufleng :
(A) 1, 2 wBpp 3 (B) 1, 2 wpmio 4
(©) 1, 3 wpmp 4 (D) 2, 3 wmmib 4

Ans — (A) 1, 2 wppio 3

196.  The Secession of a state from the Indian union has been barred by the
(A) 16™ Amendment (B) 22™ Amendment
(C) 29" Amendment (D) 35™ Amendment
Ans — (A) 16™ Amendment

@b wellweledmba  6bs WwIHeowd LWAwWmg, Ly UTHSTEGHD FHuisd FTFemr Fl L

HHSHHID?
(A) 16-eug1 T8 mEHSD (B) 22-aug1 S@ms o1
(C) 29-aug FTHHBHID (D) 35-aug1 FrHmSsId

Ans — (A) 16-aus1 FTHHSHHID
197.  Consider the following statements:
The Comptroller and Auditor General of India is responsible for a audit of the accounts of
1. The Union Govt.
2. State Gowts.
3. The governments of union territories
4. The Urban and rural local bodies.
Which of these statments are correct?

(A)1,2and 3 (B)2,3and 4 (©)1,2and 4 (D) 1,2and 4
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198.

199.

Ans—(A)1,2and3

BbHwrellsl  HMeLEMID  HEWBG OBBID HNbmE  HHBTHHET  SIDHEWIL  BH6wIHE)HEN6IT
Hwbend GFUILID CUITEBILILIVI6TETaITHEIT.

HHUI  SIFFTHIGLD

LOTHI6D DI FTIBIGBIB6IT

weilwied LIyGHamihemen I FTRIBRIB6IT

BSTLMB, SJTOLUDB OBBID o 6iTenTl & IenLoLILH6IT

il s

HIDHHMIL FnBBIHMET HHHH 6L CBTewi(h 61 FHWLTOIH 6160 Fnildh?
(A)1, 2w @ 3 (B) 2, 3o @i 4
(C©) 1, 2w @ 4 (D)1, 2w G 4
Ans —(A) 1, 2w G 3

What is the peculiar nature of the Indian Federation?

(A) Equal distribution of powers between the centre and state

(B) Strong centre

(C) Strong states

(D) Strong Local bodies

Ans — (B) Strong centre

@bHw LT Fuler 6NGearmeHaaH6enlD 616560 ?

(A) wiowr 1oTHleY DITHBEHHESH RWL B FIOOTH A ST LBISH
(B) suspicumes emiowid

(C) sugvicument LOTH6VBIBSIT

(D) sugviumen 2_aitenmi_dl  SienLoLIL|EH6IT

Ans — (B) auspieumest  emLowILD

In which one of the case, “Passport” is considered as part of personal liberty?

(A) A.K. Gopalan (1950) (B) Indian Express Newspapers (1985)
(C) Arumugham (1953) (D) Meneka Gandhi (1978)

Ans — (D) Meneka Gandhi (1978)

6hd IPHHL ‘BLFFI B Cupeugk Halosld GFHHHT 2 Memwuj e CHTLTLML WSHTHE
SHBUL L7

(A) §.63.8sTumeve (1950) aupsHES

(B) @bdwieir srderotiigery QFuiddsmei (1985) eupd@

(C) aumipsid (1953) aupse6

(D) Guwenrsr srpd (1978) eupdd

Ans — (D) Guenasr smpd (1978) aipdHE
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200.  Which of the schedules deals with division of powers between states and union?
(A) Fourth (B) Sixth (C) Seventh (D) Ninth
Ans — (C) Seventh
L6 DL e1enswIdbeisy, OMB6VURIBEHSHGID DHHU DFFTRIBHHID Renl Bl DiFETrmhismerT
fsa HmD D Lelenewt 61517
(A) BrevTeUSHI S L GUEmENT (B) eumreugsi i Leuemewt
(C) giomoug i L suewent (D) @eiusteugs SiLeuensmt
Ans — (C) gipmeugi SiLLcuensmnr
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